Epworth Final Church Numbers January 2012-December 2012

| Page 1 of 33 | | Monthly and Misc. | Annual Work Day | Mother's Day | Total Church Contributions | Total Church Members | Total Contribution p Church Memb |
|--------------|-----------------------------|-------------------|--------------------|-----------------|-------------------------------|----------------------------|--|
| District: | Anderson | | | | | | |
| Charge: | ANDERSON CT | | | | | | |
| Church: | Emmanuel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 92 | \$0.00 |
| Church: | Mt Pleasant UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 59 | \$0.00 |
| Church: | Mt Sinai UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 19 | \$0.00 |
| Charge: | ANN HOPE - FRIENDSHIP | | | | | | |
| Church: | Ann Hope UMC | \$100.00 | \$0.00 | \$0.00 | \$100.00 | 74 | \$1.35 |
| Church: | Friendship UMC | \$200.00 | \$361.00 | \$273.00 | \$834.00 | 79 | \$10.56 |
| Charge: | ARIAL - TABOR | | | | | | |
| Church: | Arial UMC | \$25.00 | \$0.00 | \$238.00 | \$263.00 | 49 | \$5.37 |
| Church: | Tabor UMC | \$0.00 | \$0.00 | \$400.00 | \$400.00 | 142 | \$2.82 |
| Charge: | BELLS | | | | | | |
| Church: | Bells UMC | \$219.91 | \$369.74 | \$611.00 | \$1,200.65 | 229 | \$5.24 |
| Charge: | BETHEL - RUHAMAH | | | | | | |
| Church: | Bethel UMC | \$490.00 | \$0.00 | \$0.00 | \$490.00 | 55 | \$8.91 |
| Church: | Ruhamah UMC | \$0.00 | \$35.00 | \$65.00 | \$100.00 | 61 | \$1.64 |
| - | BETHESDA (EASLEY) | | | | | | |
| Church: | Bethesda UMC | \$875.00 | \$200.00 | \$200.00 | \$1,275.00 | 558 | \$2.28 |
| 0 | CALHOUN FALLS | | | | | | |
| | Calhoun Falls UMC | \$125.00 | \$0.00 | \$0.00 | \$125.00 | 120 | \$1.04 |
| 0 | CHIQUOLA - DONALDS | | | | | | |
| Church: | Chiquola UMC | \$125.00 | \$0.00 | \$0.00 | \$125.00 | 65 | \$1.92 |
| | Donalds UMC | \$125.00 | \$0.00 | \$0.00 | \$125.00 | 7 | \$17.86 |
| 0 | CLEMSON | | | | | | |
| | Clemson UMC | \$2,341.00 | \$2,880.16 | \$4,063.00 | \$9,284.16 | 974 | \$9.53 |
| - | DICKSON MEMORIAL (TOWNV | | | | | | |
| | Dickson Memorial UMC | \$2,004.00 | \$3,970.00 | \$4,150.00 | \$10,124.00 | 202 | \$50.12 |
| 8 | DOUBLE SPRINGS - ROCK SPRI | | ¢120.00 | ¢220.00 | \$550.00 | 20 | 0141 |
| | Double Springs UMC | \$100.00 | \$120.00 | \$330.00 | \$550.00 | 39 | \$14.10 |
| Church: | Rock Springs UMC | \$0.00 | \$20.00 | \$25.00 | \$45.00 | 56 | \$0.80 |
| 0 | EASLEY CHARGE | #2 50.00 | #0.00 | ¢0.00 | \$ 2 50.00 | 10(| ¢1.00 |
| Church: | 5 1 | \$250.00 | \$0.00 | \$0.00 | \$250.00 | 126 | \$1.98 |
| Church: | John Wesley UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 95 | \$0.00 |
| - | FAIRFIELD (WILLIAMSTON) | ¢0.00 | ¢10.00 | ¢0.00 | ¢10.00 | 0.4 | ¢0.10 |
| | Fairfield UMC | \$0.00 | \$10.00 | \$0.00 | \$10.00 | 84 | \$0.12 |
| 0 | FAIRVIEW - ST PAUL | \$20.00 | \$135.00 | \$85.00 | \$300.00 | 112 | ¢0.45 |
| | Fairview UMC St Paul UMC | \$80.00 | | | | 113 | \$2.65 |
| Church: | | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 123 | \$0.00 |
| 8 | FIRST (EASLEY) First UMC | \$3,446.10 | \$1,767.85 | \$1,794.48 | \$7,008.43 | 892 | \$7.86 |
| | GILGAL - SHILOH | \$5,440.10 | \$1,707.83 | \$1,794.40 | \$7,000.43 | 092 | \$7.80 |
| Church: | Gilgal UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 37 | \$0.00 |
| Church: | Shiloh UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 50 | \$0.00 |
| | GRACE (ABBEVILLE) | ψ0.00 | ψ0.00 | φ0.00 | φ0.00 | 50 | φ0.00 |
| | Grace UMC | \$1,561.00 | \$0.00 | \$0.00 | \$1,561.00 | 376 | \$4.15 |
| | GRACE (PICKENS) | | 40.00 | 40.00 | <i><i><i><i></i></i></i></i> | 570 | ψτυ |
| 8 | Grace UMC | \$708.00 | \$509.00 | \$0.00 | \$1,217.00 | 599 | \$2.03 |
| | GRACE (WILLIAMSTON) | ÷. 20100 | ÷= 07.00 | \$0.00 | ÷-,=:,::0 | | ¢ _ .05 |
| Church: | Grace UMC | \$150.00 | \$25.00 | \$165.00 | \$340.00 | 113 | \$3.01 |
| | HOMELAND PARK - SANDY SPI | | | | | | 42.01 |

| Page 2 of 33 | | Monthly and Misc. | Annual Work Day | Mother's Day | Total Church Contributions | Total Church Members | Total Contribution per Church Member |
|--------------------|--|------------------------------------|--------------------|-----------------|-------------------------------|----------------------------|--|
| Church: | Bethel UMC | \$0.00 | \$0.00 | \$135.00 | \$135.00 | 29 | \$4.66 |
| Church: | Homeland Park UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 45 | \$0.00 |
| Church: | Sandy Springs UMC | \$0.00 | \$0.00 | \$120.00 | \$120.00 | 23 | \$5.22 |
| Charge: | HOPEWELL | | | | | | |
| Church: | Hopewell UMC | \$474.00 | \$0.00 | \$0.00 | \$474.00 | 66 | \$7.18 |
| Charge: | LATIMER MEMORIAL | | | | | | |
| Church: | Latimer Memorial UMC | \$1,227.02 | \$602.00 | \$368.00 | \$2,197.02 | 204 | \$10.77 |
| Charge: | LAWRENCE CHAPEL (CLEMS | | | | | | |
| Church: | Lawrence Chapel UMC | \$0.00 | \$0.00 | \$483.00 | \$483.00 | 280 | \$1.73 |
| Charge: Church: | LIBERTY (LIBERTY) | \$554.30 | ¢1 254 56 | \$310.00 | \$2 119 96 | 143 | \$14.82 |
| | Liberty UMC | \$554.30 | \$1,254.56 | \$310.00 | \$2,118.86 | 143 | \$14.82 |
| Charge: Church: | MAIN STREET (ABBEVILLE) Main Street UMC | \$0.00 | \$132.00 | \$635.00 | \$767.00 | 331 | \$2.32 |
| Charge: | Main Succe Owe | | \$152.00 | \$055.00 | \$707.00 | 551 | φ2.32 |
| Church: | Mt Bethel UMC | \$20.00 | \$50.00 | \$0.00 | \$70.00 | 65 | \$1.08 |
| Church: | Porter Chapel UMC | \$3,775.00 | \$273.00 | \$0.00 | \$4,048.00 | 194 | \$20.87 |
| Charge: | MT ZION (CENTRAL) | <i><i><i>ttttttttttttt</i></i></i> | | | 4 .,0 .0.00 | | |
| Church: | Mt Zion UMC | \$1,425.00 | \$50.00 | \$492.00 | \$1,967.00 | 174 | \$11.30 |
| Charge: | NEW HARMONY - ROBINSON | CHAPEL - UNION | | | | | |
| Church: | New Harmony UMC | \$0.00 | \$0.00 | \$5.00 | \$5.00 | 91 | \$0.05 |
| Church: | Robinson Chapel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 136 | \$0.00 |
| Church: | Union UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | | |
| Charge: | NEW HOPE | | | | | | |
| Church: | New Hope UMC | \$94.00 | \$0.00 | \$0.00 | \$94.00 | 168 | \$0.56 |
| Charge: | PELZER - BEULAH | | | | | | |
| Church: | Beulah UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 12 | \$0.00 |
| Church: | Pelzer UMC | \$50.00 | \$0.00 | \$140.00 | \$190.00 | 70 | \$2.71 |
| Charge: | PENDLETON | | | | | | |
| Church: | Pendleton UMC | \$500.00 | \$1,831.00 | \$862.00 | \$3,193.00 | 455 | \$7.02 |
| Charge: | PENDLETON CHARGE | #75 00 | ¢0.00 | #0.00 | \$75.00 | 171 | 00.44 |
| Church: | Bethel UMC | \$75.00 | \$0.00 | \$0.00 | \$75.00 | 171 | \$0.44 |
| Charge: Church: | PENDLETON CHG Central UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 93 | \$0.00 |
| Charge: | | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 93 | \$0.00 |
| Charge: Church: | SALEM (SALEM) Salem UMC | \$250.00 | \$0.00 | \$164.00 | \$414.00 | 118 | \$3.51 |
| Charge: | SHARON - SMYRNA | \$250.00 | \$0.00 | \$101.00 | \$111.00 | 110 | ψυ.υ1 |
| Church: | Sharon UMC | \$0.00 | \$135.00 | \$0.00 | \$135.00 | 83 | \$1.63 |
| Church: | Smyrna UMC | \$355.00 | \$195.00 | \$0.00 | \$550.00 | 103 | \$5.34 |
| Charge: | SHILOH STATION (PIEDMONT | | | | | | |
| Church: | Shiloh Station UMC | \$645.00 | \$420.00 | \$701.00 | \$1,766.00 | 333 | \$5.30 |
| Charge: | SOUTH ANDERSON | | | | | | |
| Church: | Ebenezer UMC | \$110.00 | \$1,775.00 | \$1,440.00 | \$3,325.00 | 24 | \$138.54 |
| Church: | Marshall Memorial UMC | \$303.00 | \$0.00 | \$0.00 | \$303.00 | 98 | \$3.09 |
| Church: | Orrville UMC | \$15.00 | \$0.00 | \$30.00 | \$45.00 | 79 | \$0.57 |
| Charge: | ST ANDREW | | | | | | |
| Church: | St Andrew UMC | \$1,020.00 | \$555.00 | \$729.00 | \$2,304.00 | 402 | \$5.73 |
| Charge: | ST JOHN'S (ANDERSON) | | | | | | |
| Church: | St Johns UMC | \$1,730.00 | \$2,121.00 | \$6,038.00 | \$9,889.00 | 1,486 | \$6.65 |
| Charge: | ST LUKE - ZION | * - * * | *** | * | ** *** *** | | *** * * |
| Church: | St Luke UMC | \$500.00 | \$805.00 | \$675.00 | \$1,980.00 | 179 | \$11.06 |
| Church: | Zion UMC | \$200.00 | \$500.00 | \$645.00 | \$1,345.00 | 7 | \$192.14 |
| ~ | | | | | | | |
| Charge: Church: | ST MARK (SENECA) St Mark UMC | \$1,025.00 | \$450.00 | \$745.00 | \$2,220.00 | 1,174 | \$1.89 |

| Page 3 of 33 | , | Monthly and Misc. | Annual Work Day | Mother's Day | Total Church Contributions | Total Church Members | Total Contribution per Church Member |
|--------------------|-------------------------------------|-------------------|--------------------|-----------------|-------------------------------|----------------------------|--|
| Charge: | STARR | | | | | | |
| Church: | Hebron UMC | \$0.00 | \$210.00 | \$0.00 | \$210.00 | 73 | \$2.88 |
| Church: | Starr UMC | \$175.00 | \$0.00 | \$150.00 | \$325.00 | 70 | \$4.64 |
| Charge: | THOMPSON CENTENNIAL - B | ETHLEHEM | | | | | |
| Church: | Bethlehem UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 18 | \$0.00 |
| Church: | Thompson Centennial UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 130 | \$0.00 |
| Charge: | TOXAWAY - JOHN WESLEY | | | | | | |
| Church: | John Wesley UMC | \$68.00 | \$0.00 | \$87.00 | \$155.00 | 98 | \$1.58 |
| Church: | Toxaway UMC | \$1,395.00 | \$0.00 | \$70.00 | \$1,465.00 | 88 | \$16.65 |
| Charge: | TRINITY (ANDERSON) | | | | | | |
| Church: | Trinity UMC | \$1,545.00 | \$1,028.00 | \$819.00 | \$3,392.00 | 1,010 | \$3.36 |
| Charge: Church: | TRINITY (HONEA PATH) Trinity UMC | \$497.00 | \$402.00 | \$220.00 | \$1,119.00 | 228 | \$4.91 |
| | - | \$497.00 | \$402.00 | \$220.00 | \$1,119.00 | 220 | \$4.91 |
| Charge: Church: | UNION GROVE Union Grove UMC | \$175.00 | \$0.00 | \$211.00 | \$386.00 | 157 | \$2.46 |
| Charge: | WESTMINSTER | \$175.00 | \$0.00 | \$211.00 | \$380.00 | 157 | \$2.40 |
| Charge. Church: | Chicopee UMC | \$250.00 | \$222.00 | \$305.00 | \$777.00 | 73 | \$10.64 |
| Church: | Westminster UMC | \$250.00 | \$600.00 | \$600.00 | \$1,450.00 | 116 | \$12.50 |
| Charge: | WILLIAMSTON CHARGE | \$250.00 | \$000.00 | \$000.00 | \$1,450.00 | 110 | \$12.50 |
| Church: | Moores Chapel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 18 | \$0.00 |
| Church: | New Golden Grove UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 33 | \$0.00 |
| Church: | St James UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 7 | \$0.00 |
| Charge: | ZION (ANDERSON) | ψ0.00 | 40.00 | \$0.00 | 40.00 | , | 40.00 |
| Church: | Zion UMC | \$1,830.00 | \$0.00 | \$715.00 | \$2,545.00 | 187 | \$13.61 |
| Charge: | ZION (EASLEY) | \$1,000.00 | 40.00 | φ/10.00 | φ2,5 15.00 | 10, | <i>Q15.01</i> |
| Church: | Zion UMC | \$300.00 | \$0.00 | \$230.00 | \$530.00 | 82 | \$6.46 |
| | District Total | \$33,757.33 | \$24,013.31 | \$30,523.48 | \$88,294.12 | 14,712 | \$6.00 |
| District: | Charleston | | | | | , | |
| Charge: | ALDERSGATE (CHARLESTON |) | | | | | |
| Church: | Aldersgate UMC | \$1,464.00 | \$1,256.00 | \$1,337.00 | \$4,057.00 | 240 | \$16.90 |
| Charge: | ASBURY - ST JAMES | \$1,101.00 | \$1,200.00 | \$1,227.00 | \$ 1,007.00 | - 10 | <i>Q</i> 10.70 |
| - | Asbury-St James UMC | \$0.00 | \$0.00 | \$240.00 | \$240.00 | 176 | \$1.36 |
| Charge: | ASHLEY RIVER (SUMMERVIL | | | | | | |
| Church: | Ashley Ridge UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | | |
| Charge: | BERKLEY CT (BONNEAU) | | | | | | |
| Church: | | \$250.00 | \$0.00 | \$0.00 | \$250.00 | 15 | \$16.67 |
| Church: | Eccles UMC | \$45.00 | \$192.00 | \$284.00 | \$521.00 | 23 | \$22.65 |
| Charge: | BETHANY (CHARLESTON) | | | | | | |
| Church: | Bethany UMC | \$1,100.00 | \$551.20 | \$964.95 | \$2,616.15 | 619 | \$4.23 |
| Charge: | BETHANY (SUMMERVILLE) | | | | | | |
| Church: | Bethany UMC | \$5,470.00 | \$5,228.00 | \$6,450.00 | \$17,148.00 | 3,374 | \$5.08 |
| Charge: | BETHEL (CHARLESTON) | | | | | | |
| Church: | Bethel UMC | \$290.00 | \$3,240.00 | \$2,496.00 | \$6,026.00 | 847 | \$7.11 |
| Charge: | BETHEL (ST STEPHEN) | | | | | | |
| Church: | Bethel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 185 | \$0.00 |
| Charge: Church: | BOONE HILL Boone Hill UMC | \$698.12 | \$1,036.00 | \$465.00 | \$2,199.12 | 461 | \$4.77 |
| Charge: | CENTENARY (CHARLESTON) | \$078.12 | \$1,050.00 | \$+05.00 | \$2,177.12 | 401 | φ τ .// |
| - | Centenary UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 124 | \$0.00 |
| Charge: | CENTENARY (MONCKS CORN | | ψ0.00 | ψ0.00 | φ0.00 | 127 | ψ0.00 |
| Charge: Church: | Centenary UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 125 | \$0.00 |
| Charge: | CHARLESTON KOREAN | ψ0.00 | ψ0.00 | ψ0.00 | φ0.00 | 120 | ψ0.00 |
| Church: | Charleston Korean UMC | \$120.00 | \$0.00 | \$0.00 | \$120.00 | 48 | \$2.50 |
| | | | * | * | | - | • • • • |

| Page 4 of 33 | | Monthly and Misc. | Annual Work Day | Mother's Day | Total Church Contributions | Total Church Members | Total Contribution per Church Member |
|--------------------|--|-------------------|-----------------------------|------------------|-------------------------------|----------------------------|--|
| Charge: | CHEROKEE PLACE | | | | | | |
| Church: | Cherokee Place UMC | \$875.00 | \$147.00 | \$397.00 | \$1,419.00 | 276 | \$5.14 |
| Charge: | COKESBURY | | | | | | |
| Church: | Cokesbury UMC | \$1,600.00 | \$306.00 | \$0.00 | \$1,906.00 | 508 | \$3.75 |
| Charge: | CORDESVILLE | | | | | | |
| Church: | Cordesville UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 65 | \$0.00 |
| Charge: | CROSS CT | * 10.00 | * 1 0 C 0 0 | \$ 0.00 | * 11 < 00 | 2=0 | \$6.25 |
| Church: | Jerusalem UMC | \$10.00 | \$106.80 | \$0.00 | \$116.80 | 370 | \$0.32 |
| Church: | Zion UMC | \$10.00 | \$200.00 | \$0.00 | \$210.00 | 540 | \$0.39 |
| Charge: Church: | EBENEZER - HOODS CHAPEL Ebenezer UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 53 | \$0.00 |
| | | | | | | | |
| Church: | Hoods Chapel UMC | \$76.00 | \$0.00 | \$137.00 | \$213.00 | 101 | \$2.11 |
| Charge: Church: | ENOCH CHAPEL - GROVE HAL Enoch Chapel UMC | L \$0.00 | \$0.00 | \$0.00 | \$0.00 | 86 | \$0.00 |
| Church: | Grove Hall UMC | \$0.00 \$0.00 | \$0.00 | \$0.00 | \$0.00 | | \$0.00 \$0.00 |
| | | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 102 | \$0.00 |
| Charge: Church: | EPWORTH (CHARLESTON) Epworth UMC | \$290.00 | \$75.00 | \$435.00 | \$800.00 | 226 | \$3.54 |
| Charge: | FIRST (ISLE OF PALMS) | \$270.00 | \$75.00 | \$455.00 | \$800.00 | 220 | \$5.54 |
| Church: | First UMC | \$5,586.50 | \$1,160.40 | \$4,236.00 | \$10,982.90 | 629 | \$17.46 |
| Charge: | FOLLY BEACH - ST JOHN | \$5,500.50 | \$1,100.10 | \$1,250.00 | \$10,902.90 | 02) | <i>Q</i> 1 7.10 |
| Church: | Folly Beach UMC | \$0.00 | \$569.00 | \$368.00 | \$937.00 | 142 | \$6.60 |
| Church: | St John UMC | \$85.00 | \$25.00 | \$0.00 | \$110.00 | 38 | \$2.89 |
| Charge: | FRIENDSHIP (CROSS) | | | | | | 4-102 |
| Church: | Friendship UMC | \$100.00 | \$0.00 | \$230.00 | \$330.00 | 120 | \$2.75 |
| Charge: | GOOSE CREEK | | | | | | |
| Church: | Goose Creek UMC | \$225.00 | \$0.00 | \$405.00 | \$630.00 | 412 | \$1.53 |
| Charge: | GRACE (CHARLESTON) | | | | | | |
| Church: | Grace UMC | \$2,353.00 | \$0.00 | \$2,030.51 | \$4,383.51 | 677 | \$6.47 |
| Charge: | GREATER ST PAUL | | | | | | |
| Church: | Greater St Paul UMC | \$0.00 | \$0.00 | \$29.00 | \$29.00 | 284 | \$0.10 |
| Charge: | HIBBEN (MT PLEASANT) | | | | | | |
| Church: | Hibben UMC | \$3,574.07 | \$1,541.00 | \$2,725.00 | \$7,840.07 | 838 | \$9.36 |
| Charge: | JAMESTOWN | | | | | | |
| Church: | Mt Zion UMC | \$0.00 | \$0.00 | \$100.00 | \$100.00 | 28 | \$3.57 |
| | New Hope UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 15 | \$0.00 |
| Church: | St James UMC | \$65.00 | \$0.00 | \$0.00 | \$65.00 | 22 | \$2.95 |
| Charge: | JEHOVAH | #0.00 | ¢0.00 | #0.00 | \$0.00 | | *• • • • |
| Church: | Jehovah UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 66 | \$0.00 |
| Charge: Church: | JOHN WESLEY (CHARLESTON) John Wesley UMC |) \$3,604.60 | \$1,645.00 | \$2,274.96 | \$7,524.56 | 1,268 | \$5.93 |
| | JOHNS ISLAND PARISH | \$5,004.00 | \$1,043.00 | \$2,274.90 | \$7,524.50 | 1,200 | \$3.93 |
| Charge: Church: | Bethlehem UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 101 | \$0.00 |
| Church: | New Webster UMC | \$0.00 | \$0.00 | \$0.00 \$0.00 | \$0.00 | 245 | \$0.00 \$0.00 |
| Church: | St James UMC | \$0.00 | \$100.00 | \$0.00 | \$100.00 | 82 | \$1.22 |
| Charge: | JOSHUA | \$0.00 | \$100.00 | \$0.00 | \$100.00 | 02 | \$1.22 |
| Church: | Joshua UMC | \$150.00 | \$0.00 | \$0.00 | \$150.00 | 315 | \$0.48 |
| Charge: | KNIGHTSVILLE | <i>Q</i> 100.00 | <i>Q</i> 0.00 | <i>Q</i> 0.00 | <i>Q</i> 100.00 | 010 | 40.10 |
| Church: | Knightsville UMC | \$212.54 | \$515.00 | \$447.00 | \$1,174.54 | 398 | \$2.95 |
| Charge: | LEBANON CHARGE | | | | • • • • • | | |
| Church: | Lebanon UMC | \$2,902.67 | \$1,490.00 | \$1,830.00 | \$6,222.67 | 137 | \$45.42 |
| Church: | Spring Hill UMC | \$0.00 | \$115.00 | \$120.00 | \$235.00 | 65 | \$3.62 |
| | | | | | | | |
| Charge: | MIDLAND PARK | | | | | | |

| age 5 of 33 | | Monthly and Misc. | Annual Work Day | Mother's Day | Total Church Contributions | Total Church Members | Total Contribution p Church Memb |
|--------------------|--|----------------------|--------------------|-----------------------|-------------------------------|----------------------------|--|
| Charge: | MONCKS CORNER | | | | | | |
| Church: | Moncks Corner UMC | \$2,205.00 | \$1,215.00 | \$465.00 | \$3,885.00 | 482 | \$8.06 |
| Charge: | MT CARMEL (CHARLESTON) | | | | | | |
| Church: | Mt Carmel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 690 | \$0.00 |
| Charge: | MT NEBO | | * ••••• | * ••••• | ** * • • • • | | ** • • • |
| Church: | | \$250.00 | \$0.00 | \$0.00 | \$250.00 | 85 | \$2.94 |
| 8 | NEW FRANCIS BROWN | \$0.00 | \$0.00 | 00.02 | \$0.00 | 459 | \$0.00 |
| | New Francis Brown UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 439 | \$0.00 |
| Charge: Church: | NEW HOPE (RIDGEVILLE) New Hope UMC | \$371.00 | \$0.00 | \$0.00 | \$371.00 | 190 | \$1.95 |
| Charge: | NEW LIGHT (ST STEPHEN) | \$571.00 | ψ0.00 | \$0.00 | \$571.00 | 170 | ψ1.95 |
| Church: | New Light UMC | \$20.00 | \$0.00 | \$0.00 | \$20.00 | 240 | \$0.08 |
| Charge: | NORTH CHARLESTON | 4_0.00 | \$0.00 | \$0.00 | ¢=0.00 | - 10 | \$0.00 |
| - | North Charleston UMC | \$1,011.00 | \$656.00 | \$0.00 | \$1,667.00 | 532 | \$3.13 |
| Charge: | OLD BETHEL | | | | - <u>-</u> | | 40.00 |
| Church: | | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 254 | \$0.00 |
| Charge: | PINOPOLIS | | | | | | |
| Church: | Pinopolis UMC | \$1,190.00 | \$0.00 | \$405.00 | \$1,595.00 | 349 | \$4.57 |
| Charge: | POINT HOPE | | | | | | |
| Church: | Point Hope UMC | \$80.00 | \$0.00 | \$652.00 | \$732.00 | 115 | \$6.37 |
| Charge: | RAVENEL | | | | | | |
| | Ravenel UMC | \$0.00 | \$0.00 | \$125.00 | \$125.00 | 20 | \$6.25 |
| Charge: | SEWEE - SANTEE CHARGE | | ba = = | | A | | |
| Church: | McClellanville UMC | \$300.00 | \$355.00 | \$182.00 | \$837.00 | 103 | \$8.13 |
| Church: | Ocean Grove UMC | \$670.00 | \$0.00 | \$0.00 | \$670.00 | 149 | \$4.50 |
| Church: | Wrens Chapel UMC | \$150.00 | \$0.00 | \$350.00 | \$500.00 | 15 | \$33.33 |
| Charge: | SMYRNA | ¢0.00 | #5500 | | ¢1 0 1 4 50 | ~ ~ | ¢10 |
| Church: | | \$0.00 | \$550.00 | \$664.50 | \$1,214.50 | 97 | \$12.52 |
| Charge: Church: | ST ANDREWS PARISH St Andrews UMC | \$5 806 76 | \$100.00 | \$936.00 | \$6 022 76 | 396 | \$17.51 |
| | | \$5,896.76 | \$100.00 | \$730.00 | \$6,932.76 | 390 | \$17.31 |
| Charge: Church | ST JAMES (GOOSE CREEK) St James UMC | \$920.30 | \$337.00 | \$130.00 | \$1,387.30 | 400 | \$3.47 |
| | ST MARK (CHARLESTON) | $\psi / 20.30$ | φ557.00 | φ150.00 | ψ1,507.50 | 100 | φ J. 1 / |
| - | St Mark UMC | \$155.00 | \$320.00 | \$260.00 | \$735.00 | 583 | \$1.26 |
| Charge: | ST STEPHEN CHARGE | * | + | | 4.00.00 | 200 | ¢1.20 |
| Church: | | \$45.00 | \$99.00 | \$20.00 | \$164.00 | 44 | \$3.73 |
| Church: | | \$545.00 | \$145.00 | \$0.00 | \$690.00 | 65 | \$10.62 |
| Charge: | ST THOMAS CHARGE | | | | | | |
| - | New Hope UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 657 | \$0.00 |
| Church: | Steward Chapel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 204 | \$0.00 |
| Church: | Zion UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 282 | \$0.00 |
| Charge: | STALLSVILLE | | | | | | |
| Church: | | \$870.00 | \$255.00 | \$0.00 | \$1,125.00 | 442 | \$2.55 |
| Charge: | SUMMERVILLE PARISH | | | | | | |
| | Murray UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 239 | \$0.00 |
| Church: | • | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 171 | \$0.00 |
| Charge: | TRINITY (CHARLESTON) | * * * * * * | ¢-22.55 | ¢ < 2 0 0 0 0 | | ~ _ ~ | |
| Church: | Trinity UMC | \$100.00 | \$523.00 | \$630.00 | \$1,253.00 | 279 | \$4.49 |
| Charge: | WASHINGTON Washington LIMC | ¢0.00 | ¢327.00 | 40.00 | ¢327.00 | 240 | ቀስ ሶሳ |
| Church: | Washington UMC | \$0.00 | \$237.00 | \$0.00 | \$237.00 | 240 | \$0.99 |
| Charge: Church: | WESLEY (CHARLESTON) Wesley UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 237 | \$0.00 |
| Charge: | WESLEY (JOHNS ISLAND) | 40.00 | ψ0.00 | φ0.00 | φ0.00 | 251 | ψ0.00 |

| Page 6 of 33 | | Monthly and Misc. | Annual Work Day | Mother's Day | Total Church Contributions | Total Church Members | Total Contribution per Church Member |
|--------------------|--|-----------------------|--------------------|-----------------|-------------------------------|----------------------------|--|
| Church: | Wesley UMC | \$381.25 | \$0.00 | \$351.46 | \$732.71 | 405 | \$1.81 |
| Charge: | WESLEY (LADSON) | | | | | | |
| Church: | Wesley UMC | \$300.00 | \$0.00 | \$0.00 | \$300.00 | 453 | \$0.66 |
| Charge: | WESLEY (PINOPOLIS) | | | | | | |
| Church: | Wesley UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 482 | \$0.00 |
| Charge: Church: | WESLEY (YONGES ISLAND) Wesley UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 480 | \$0.00 |
| Charge: | WESLEY MEMORIAL - EDIS | | \$0.00 | \$0.00 | \$0.00 | 100 | 40.00 |
| Church: | Edisto Island UMC | \$630.00 | \$490.00 | \$1,072.00 | \$2,192.00 | 62 | \$35.35 |
| Church: | Wesley Memorial UMC | \$865.00 | \$595.00 | \$910.00 | \$2,370.00 | 228 | \$10.39 |
| | District Total | \$48,236.81 | \$25,717.40 | \$35,317.38 | \$109,271.59 | 24,744 | \$4.42 |
| District: | Columbia | | | | | | |
| Charge: | ASBURY MEMORIAL | | | | | | |
| Church: | Asbury Memorial UMC | \$3,005.60 | \$2,634.00 | \$1,380.00 | \$7,019.60 | 660 | \$10.64 |
| Charge: | ASHLAND | | | | | | |
| Church: | Ashland UMC | \$4,841.00 | \$870.00 | \$876.00 | \$6,587.00 | 813 | \$8.10 |
| Charge: | BETHEL (COLUMBIA) | | | | | | |
| Church: | Bethel UMC | \$695.00 | \$1,663.68 | \$2,233.00 | \$4,591.68 | 493 | \$9.31 |
| Charge: | BEULAH | #7 00.00 | ¢1.040.00 | ¢<<1.00 | #2 400 00 | 105 | ¢5.02 |
| Church: | Beulah UMC | \$780.00 | \$1,048.00 | \$661.00 | \$2,489.00 | 495 | \$5.03 |
| Charge: Church: | BLUFF ROAD Bluff Road UMC | \$0.00 | \$0.00 | \$245.00 | \$245.00 | 204 | \$1.20 |
| Charge: | BOILING SPRINGS | \$0.00 | \$0.00 | \$245.00 | \$245.00 | 204 | \$1.20 |
| Church: | Boiling Springs UMC | \$500.00 | \$0.00 | \$499.00 | \$999.00 | 455 | \$2.20 |
| Charge: | BROOKLAND | | | | | | |
| Church: | Brookland UMC | \$200.00 | \$1,068.00 | \$2,046.00 | \$3,314.00 | 399 | \$8.31 |
| Charge: | CAYCE | | | | | | |
| Church: | Cayce UMC | \$1,550.00 | \$1,398.25 | \$1,081.00 | \$4,029.25 | 611 | \$6.59 |
| Charge: | CHAPIN | | | | | | |
| Church: | Chapin UMC | \$24,601.31 | \$1,570.74 | \$2,435.00 | \$28,607.05 | 1,705 | \$16.78 |
| Charge: | COLLEGE PLACE | ¢200.00 | ¢1 200 00 | ¢000.00 | ¢2 470 00 | 2(1 | ¢0.47 |
| Church: | College Place UMC | \$290.00 | \$1,200.00 | \$980.00 | \$2,470.00 | 261 | \$9.46 |
| Charge: Church: | COLUMBIA KOREAN Columbia Korean UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 103 | \$0.00 |
| Charge: | EPWORTH MEMORIAL | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 105 | \$0.00 |
| Church: | Epworth Memorial UMC | \$100.00 | \$0.00 | \$800.00 | \$900.00 | 105 | \$8.57 |
| Charge: | FAIR LAWN | | | | | | |
| Church: | Fair Lawn UMC | \$0.00 | \$20.00 | \$0.00 | \$20.00 | 351 | \$0.06 |
| Charge: | FAIRFIELD CT | | | | | | |
| Church: | Bethel UMC | \$713.00 | \$1,545.00 | \$1,416.00 | \$3,674.00 | 132 | \$27.83 |
| Church: | Cedar Creek UMC | \$25.00 | \$0.00 | \$0.00 | \$25.00 | 5 | \$5.00 |
| Church: | Monticello UMC | \$75.00 | \$90.00 | \$205.00 | \$370.00 | 32 | \$11.56 |
| Charge: | FAITH (LEXINGTON) | ** • • • • • • | | * / | | | * *** |
| Church: | Faith UMC | \$3,350.00 | \$4,955.00 | \$4,552.00 | \$12,857.00 | 144 | \$89.28 |
| Charge: Church: | FIRST (WINNSBORO) First UMC | \$1,054.00 | \$1,115.00 | \$500.00 | \$2,669.00 | 275 | \$9.71 |
| Charge: | FRANCIS BURNS | \$1,034.00 | \$1,115.00 | \$500.00 | \$2,009.00 | 215 | \$7.71 |
| Charge: Church: | Francis Burns UMC | \$417.50 | \$570.00 | \$708.50 | \$1,696.00 | 1,012 | \$1.68 |
| Charge: | GILBERT | ÷ - / 10 v | ÷= | <i></i> | | -,• | + |
| Church: | Gilbert UMC | \$400.00 | \$1,305.00 | \$870.00 | \$2,575.00 | 187 | \$13.77 |
| Church: | Rehoboth UMC | \$0.00 | \$1,300.00 | \$1,115.00 | \$2,415.00 | 171 | \$14.12 |
| Charge: | GORDON MEMORIAL - GRE | ENBRIER | | | | | |
| Church: | Gordon Memorial UMC | \$0.00 | \$556.50 | \$332.64 | \$889.14 | 192 | \$4.63 |

| age 7 of 33 | | Monthly and Misc. | Annual Work Day | Mother's Day | Total Church Contributions | Total Church Members | Total Contribution per Church Member |
|-------------------------------|---|----------------------|--------------------|-----------------|-------------------------------|----------------------------|--|
| Church: | Greenbrier UMC | \$190.00 | \$340.00 | \$275.00 | \$805.00 | 66 | \$12.20 |
| Charge: Church: | GRACE (COLUMBIA) Grace UMC | \$22,700.00 | \$793.00 | \$524.00 | \$24,017.00 | 393 | \$61.11 |
| 0 | GREENE STREET | - | | | | | |
| Church: Charge: | Greene Street UMC I DEQUINCEY NEWMAN | \$1,085.00 | \$620.00 | \$415.00 | \$2,120.00 | 174 | \$12.18 |
| Church: | I DeQuincey Newman UMC | \$0.00 | \$0.00 | \$179.00 | \$179.00 | 166 | \$1.08 |
| Church: | JOURNEY Journey UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 536 | \$0.00 |
| | LEBANON (COLUMBIA) Lebanon UMC | \$2,395.00 | \$0.00 | \$0.00 | \$2,395.00 | 370 | \$6.47 |
| 0 | LEXINGTON Lexington UMC | \$1,567.70 | \$1,530.00 | \$3,277.50 | \$6,375.20 | 1,188 | \$5.37 |
| | MAIN STREET (COLUMBIA) Main Street UMC | \$1,620.00 | \$1,059.00 | \$0.00 | \$2,679.00 | 534 | \$5.02 |
| Charge: | MILL CREEK - MCLEOD | | | | | | |
| Church: | McLeod UMC | \$485.00 | \$0.00 | \$50.00 | \$535.00 | 121 | \$4.42 |
| Church: Charge: | Mill Creek UMC MT HEBRON | \$145.00 | \$190.00 | \$260.00 | \$595.00 | 144 | \$4.13 |
| Church: | Mt Hebron UMC MT HOREB | \$5,024.77 | \$2,157.86 | \$2,238.96 | \$9,421.59 | 1,195 | \$7.88 |
| 0 | Mt Horeb UMC | \$6,180.00 | \$10,874.00 | \$6,430.09 | \$23,484.09 | 3,144 | \$7.47 |
| Charge: | MT PLEASANT - ST LUKE | | | | | | |
| Church: | Mt Pleasant UMC | \$790.00 | \$110.00 | \$500.00 | \$1,400.00 | 146 | \$9.59 |
| | St Luke UMC | \$340.00 | \$0.00 | \$252.00 | \$592.00 | 25 | \$23.68 |
| Church: | NORTHEAST Northeast UMC | \$800.00 | \$1,354.00 | \$1,003.00 | \$3,157.00 | 690 | \$4.58 |
| 0 | PLATT SPRINGS Platt Springs UMC | \$615.00 | \$695.00 | \$893.00 | \$2,203.00 | 578 | \$3.81 |
| 0 | POND BRANCH Pond Branch UMC | \$3,445.00 | \$1,675.00 | \$1,780.00 | \$6,900.00 | 378 | \$18.25 |
| | RED BANK (RED BANK) Red Bank UMC | \$640.00 | \$1,064.00 | \$1,010.47 | \$2,714.47 | 819 | \$3.31 |
| | REHOBOTH (COLUMBIA) | \$010.00 | \$1,001.00 | \$1,010.17 | φ2,711.17 | 017 | ψ5.51 |
| | Rehoboth UMC SALEM (IRMO) | \$1,395.00 | \$50.00 | \$0.00 | \$1,445.00 | 338 | \$4.28 |
| Church: | Salem UMC SHADY GROVE | \$1,858.00 | \$2,332.45 | \$1,917.00 | \$6,107.45 | 1,054 | \$5.79 |
| Church: | Shady Grove UMC | \$25.00 | \$0.00 | \$1,271.00 | \$1,296.00 | 344 | \$3.77 |
| Church: | SHANDON Shandon UMC | \$23,100.73 | \$4,009.00 | \$4,057.00 | \$31,166.73 | 2,835 | \$10.99 |
| Church: | SHILOH (GILBERT) Shiloh UMC | \$300.00 | \$573.00 | \$300.00 | \$1,173.00 | 155 | \$7.57 |
| Church: | SHILOH (W COLUMBIA - CAYCE) Shiloh UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 92 | \$0.00 |
| - | ST JAMES (COLUMBIA) St James UMC | \$200.00 | \$0.00 | \$0.00 | \$200.00 | 131 | \$1.53 |
| - | ST JOHN (COLUMBIA) St John UMC | \$0.00 | \$0.00 | \$125.00 | \$125.00 | 49 | \$2.55 |
| | ST MARK (COLUMBIA) | | | | | | |
| | St Mark UMC | \$472.00 | \$0.00 | \$0.00 | \$472.00 | 166 | \$2.84 |
| Charge: Church: Charge: | SUBER MARSHALL ML Suber Marshall Memorial UMC TRENHOLM ROAD | \$1,330.00 | \$170.00 | \$515.00 | \$2,015.00 | 160 | \$12.59 |

| Page 8 of 33 | , | Monthly and Misc. | Annual Work Day | Mother's Day | Total Church Contributions | Total Church Members | Total Contribution per Church Member |
|--------------------|---|-------------------|--------------------------------------|---------------------------|-------------------------------|----------------------------|--|
| Church: | Trenholm Road UMC | \$23,880.17 | \$3,410.05 | \$3,946.00 | \$31,236.22 | 1,611 | \$19.39 |
| Charge: | TRINITY (BLYTHEWOOD) | ¢1.225.40 | #2 252 00 | ** ** | ¢< 450 40 | 001 | ¢< 10 |
| Church: | Trinity UMC | \$1,325.40 | \$2,352.00 | \$2,773.00 | \$6,450.40 | 996 | \$6.48 |
| Charge: Church: | TRINITY (W COLUMBIA- CAY Trinity UMC | (CE) \$883.00 | \$555.00 | \$1,180.00 | \$2,618.00 | 326 | \$8.03 |
| Charge: | UNION (IRMO) | \$002.00 | \$222.00 | \$1,100.00 | \$2,010.00 | 520 | 40.00 |
| Church: | Union UMC | \$30,341.76 | \$8,538.65 | \$6,558.60 | \$45,439.01 | 2,749 | \$16.53 |
| Charge: | UPPER RICHLAND CHARGE | | | | | | |
| Church: | Beulah UMC | \$100.00 | \$345.00 | \$196.00 | \$641.00 | 81 | \$7.91 |
| Church: | Oak Grove UMC | \$0.00 | \$215.00 | \$0.00 | \$215.00 | 46 | \$4.67 |
| Charge: Church: | VIRGINIA WINGARD ML Virginia Wingard UMC | \$1,975.00 | \$995.00 | \$1,646.00 | \$4,616.00 | 468 | \$9.86 |
| Charge: | WASHINGTON STREET | \$1,975.00 | \$995.00 | \$1,040.00 | \$4,010.00 | 408 | \$9.80 |
| Church: | Washington Street UMC | \$4,515.00 | \$2,625.00 | \$4,217.00 | \$11,357.00 | 948 | \$11.98 |
| Charge: | WESLEY (COLUMBIA) | | | | | | |
| Church: | Wesley UMC | \$135.00 | \$338.00 | \$0.00 | \$473.00 | 401 | \$1.18 |
| Charge: | WESLEY MEMORIAL (COLU | | | | | | |
| Church: | Wesley Memorial UMC | \$1,053.00 | \$310.00 | \$665.00 | \$2,028.00 | 101 | \$20.08 |
| Charge: Church: | WEST KERSHAW (ELGIN) Ebenezer UMC | \$0.00 | \$0.00 | \$32.00 | \$32.00 | 20 | \$1.60 |
| Church: | Salem UMC | \$0.00 | \$326.00 | \$0.00 | \$326.00 | 73 | \$4.47 |
| Church: | Smyrna UMC | \$0.00 | \$247.00 | \$0.00 | \$247.00 | 54 | \$4.57 |
| Charge: | WHALEY STREET | | | | | | |
| Church: | Whaley Street UMC | \$1,270.00 | \$705.00 | \$0.00 | \$1,975.00 | 157 | \$12.58 |
| Charge: | WINDSOR | | | | | | |
| Church: | Windsor UMC | \$1,547.79 | \$581.00 | \$576.00 | \$2,704.79 | 350 | \$7.73 |
| Charge: Church: | ZION (BLYTHEWOOD) Zion UMC | \$50.00 | \$300.00 | \$300.00 | \$650.00 | 21 | \$30.95 |
| Church. | District Total | \$186,376.73 | \$300.00 \$74,348.18 | \$300.00 \$72,297.76 | \$333,022.67 | 33,198 | \$10.03 |
| District: | Florence | \$100,010110 | <i>\$7</i> 1 , 0 10110 | <i>\$72,277770</i> | \$000,022.07 | 00,170 | \$10 .00 |
| Charge: | BETHESDA (CADES) | | | | | | |
| Church: | · · · · · | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 27 | \$0.00 |
| Charge: | BETHESDA (KINGSTREE) | ÷•••• | | | | | |
| Church: | Bethesda UMC | \$180.00 | \$0.00 | \$0.00 | \$180.00 | 292 | \$0.62 |
| Charge: | BETHLEHEM (PAMPLICO) | | | | | | |
| Church: | Bethlehem UMC | \$1,981.34 | \$0.00 | \$690.00 | \$2,671.34 | 171 | \$15.62 |
| Charge: Church: | CADES - CAMERON | \$100.00 | \$0.00 | \$425.00 | \$525.00 | 58 | \$9.22 |
| Church: | Cades UMC Cameron UMC | \$250.00 | \$0.00 \$0.00 | \$435.00 \$0.00 | \$535.00 \$250.00 | 58 71 | \$9.22 \$3.52 |
| Charge: | CENTRAL (FLORENCE) | \$250.00 | \$0.00 | \$0.00 | \$250.00 | / 1 | Φ5.52 |
| Church: | Central UMC | \$8,656.00 | \$7,202.00 | \$5,862.00 | \$21,720.00 | 1,880 | \$11.55 |
| Charge: | CUMBERLAND | | | | | | |
| Church: | Cumberland UMC | \$85.00 | \$268.00 | \$280.00 | \$633.00 | 457 | \$1.39 |
| Charge: | EBENEZER - OLD JOHNSON | | #0.00 | ¢1.700.00 | | 2(0) | ¢15.00 |
| Church: | Ebenezer UMC | \$2,327.65 | \$0.00 \$220.00 | \$1,729.00 | \$4,056.65 | 269 | \$15.08 |
| Church: | Old Johnsonville UMC ELIJAH | \$0.00 | \$220.00 | \$0.00 | \$220.00 | 91 | \$2.42 |
| Charge: Church: | Elijah UMC | \$0.00 | \$0.00 | \$241.00 | \$241.00 | 337 | \$0.72 |
| Charge: | FAITH (CADES) | | | | | | |
| Church: | Faith UMC | \$0.00 | \$0.00 | \$75.00 | \$75.00 | 304 | \$0.25 |
| Charge: | FIRST (HEMINGWAY) | | | | | | |
| Church: | First Church UMC | \$1,928.91 | \$0.00 | \$0.00 | \$1,928.91 | 248 | \$7.78 |
| Charge: | FRIENDSHIP (KINGSTREE) | | | | | | |

| age 9 of 33 | | Monthly and Misc. | Annual Work Day | Mother's Day | Total Church Contributions | Total Church Members | Total Contribution pe Church Membe |
|-------------|--------------------------|-------------------|--------------------|-------------------------|-------------------------------|----------------------------|--|
| Church: | Friendship UMC | \$0.00 | \$0.00 | \$157.00 | \$157.00 | 764 | \$0.21 |
| Charge: | GREELEYVILLE - LANE | | | | | | |
| Church: | Greeleyville UMC | \$410.00 | \$0.00 | \$639.52 | \$1,049.52 | 57 | \$18.41 |
| Church: | Lane UMC | \$300.00 | \$470.00 | \$500.00 | \$1,270.00 | 63 | \$20.16 |
| Charge: | GREELEYVILLE PARISH | | | | | | |
| Church: | Long Branch UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 69 | \$0.00 |
| Church: | Wilson Chapel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 88 | \$0.00 |
| Charge: | HEBRON | | | | | | |
| Church: | Hebron UMC | \$1,185.00 | \$520.00 | \$100.00 | \$1,805.00 | 126 | \$14.33 |
| Church: | Pergamos UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 24 | \$0.00 |
| Charge: | HIGHLAND PARK | | | | | | |
| Church: | Highland Park UMC | \$2,801.00 | \$1,740.00 | \$1,650.00 | \$6,191.00 | 1,046 | \$5.92 |
| Charge: | JEREMIAH - MT SEAL | | | | | | |
| Church: | Jeremiah UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 206 | \$0.00 |
| Church: | Mt Seal UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 128 | \$0.00 |
| Charge: | JERUSALEM - ST LUKE | | | | | | |
| Church: | Jerusalem UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 181 | \$0.00 |
| Church: | St Luke UMC | \$312.00 | \$0.00 | \$0.00 | \$312.00 | 225 | \$1.39 |
| Charge: | JOHNSONVILLE | | | | | | |
| Church: | Johnsonville UMC | \$343.25 | \$0.00 | \$0.00 | \$343.25 | 139 | \$2.47 |
| Charge: | JOHNSONVILLE CT | | | | | | |
| Church: | Browns Chapel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 31 | \$0.00 |
| Church: | Trinity UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 65 | \$0.00 |
| Church: | Vox Memorial UMC | \$200.00 | \$0.00 | \$0.00 | \$200.00 | 76 | \$2.63 |
| Charge: | JORDAN | | | | | | |
| Church: | Bethlehem UMC | \$762.00 | \$365.00 | \$411.00 | \$1,538.00 | 85 | \$18.09 |
| Church: | Jordan UMC | \$777.00 | \$0.00 | \$400.00 | \$1,177.00 | 80 | \$14.71 |
| Church: | Union UMC | \$0.00 | \$100.00 | \$300.00 | \$400.00 | 118 | \$3.39 |
| Charge: | KENNEDYVILLE | | | | | | |
| Church: | Kennedyville UMC | \$500.00 | \$0.00 | \$0.00 | \$500.00 | 66 | \$7.58 |
| Charge: | KINGSTREE | | | | | | |
| | Kingstree UMC | \$3,907.00 | \$615.00 | \$612.00 | \$5,134.00 | 321 | \$15.99 |
| Charge: | KINGSTREE CT | \$0.00 | ¢.50.00 | #0.00 | \$ 50.00 | 21 | #2 .20 |
| Church: | Beulah UMC | \$0.00 | \$50.00 | \$0.00 | \$50.00 | 21 | \$2.38 |
| Church: | • | \$200.00 | \$0.00 | \$100.00 | \$300.00 | 38 | \$7.89 |
| Church: | Millwood UMC | \$650.00 | \$0.00 | \$300.00 | \$950.00 | 79 | \$12.03 |
| Charge: | KINGSTREE EAST | * ••••• | * ••••• | * • * • • | * •• * ••• | 100 | * •••• • |
| | Asbury UMC | \$0.00 | \$0.00 | \$85.00 | \$85.00 | 103 | \$0.83 |
| | Bethel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 140 | \$0.00 |
| Charge: | LAKE CITY | ¢1.422.00 | *25 00 | \$516.00 | #2 002 00 | 202 | ф <u>г</u> . 1.1 |
| Church: | Lake City UMC | \$1,432.00 | \$25.00 | \$546.00 | \$2,003.00 | 392 | \$5.11 |
| Charge: | LAKE CITY CT | \$0.00 | ¢0.00 | #0.00 | \$0.00 | 10 | ¢0.00 |
| Church: | Ninevah UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 49 | \$0.00 |
| Church: | | \$0.00 | \$85.00 | \$385.00 | \$470.00 | 288 | \$1.63 |
| Church: | | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 81 | \$0.00 |
| Charge: | LAKE POINT | * ••••• | * ••••• | * • • • • | * ••••• | | \$ 0.00 |
| Church: | Lake Point UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 61 | \$0.00 |
| Charge: | LEWIS CHAPEL- ZOAR | ¢0.00 | ¢1 007 00 | #0.00 | ¢1 007 00 | 015 | ¢.4.∠Ω |
| | Lewis Chapel UMC | \$0.00 | \$1,007.00 | \$0.00 | \$1,007.00 | 215 | \$4.68 |
| | Zoar UMC | \$170.00 | \$135.00 | \$175.00 | \$480.00 | 39 | \$12.31 |
| Charge: | LIBERTY CHAPEL - FRIENDS | | Ø450.00 | # 77 7 00 | #1 00 7 00 | 200 | ¢5.00 |
| Church: | Friendship UMC | \$50.00 | \$450.00 | \$726.00 | \$1,226.00 | 208 | \$5.89 |
| Church: | Liberty Chapel UMC | \$200.00 | \$595.00 | \$1,309.00 | \$2,104.00 | 198 | \$10.63 |

| 2age 10 of 3 | 3 | Monthly and Misc. | Annual Work Day | Mother's Day | Total Church Contributions | Total Church Members | Total Contribution pe Church Membe |
|--------------------|----------------------------------|-------------------|--------------------|-----------------|-------------------------------|----------------------------|--|
| Charge: | LYNCHBURG CHG | | | | | | |
| Church: | Lynchburg UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 38 | \$0.00 |
| Church: | St Luke UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 31 | \$0.00 |
| Church: | Trinity UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 39 | \$0.00 |
| Charge: | LYNCHBURG PARISH | | | | | | |
| Church: | New Haven UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 82 | \$0.00 |
| Church: | St Paul UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 136 | \$0.00 |
| Church: | Warren Chapel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 71 | \$0.00 |
| Charge: Church: | LYNCHBURG PARRISH St Paul UMC | \$0.00 | \$0.00 | \$141.00 | \$141.00 | 91 | \$1.55 |
| Charge: | MANNING | | | | | | |
| Church: | Manning UMC | \$2,390.00 | \$2,998.00 | \$4,382.00 | \$9,770.00 | 526 | \$18.57 |
| Charge: | MARS BLUFF | | | | | | |
| Church: | Bowers Chapel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 123 | \$0.00 |
| Church: | Mt Zion UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 133 | \$0.00 |
| Charge: | MT BEULAH | | | | | | |
| Church: | Mt Beulah UMC | \$0.00 | \$50.00 | \$0.00 | \$50.00 | 179 | \$0.28 |
| Charge: | MT VERNON | | | | | | |
| Church: | Mt Vernon UMC | \$25.00 | \$253.00 | \$491.00 | \$769.00 | 132 | \$5.83 |
| Charge: | MT ZION (KINGSTREE) | | | | | | |
| Church: | Mt Zion UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 390 | \$0.00 |
| Charge: | MT ZION (TIMMONSVILLE) | | | | | | |
| Church: | Mt Zion UMC | \$0.00 | \$106.00 | \$0.00 | \$106.00 | 177 | \$0.60 |
| Charge: | NEW ZION | | | | | | |
| Church: | New Zion UMC | \$100.00 | \$280.00 | \$250.00 | \$630.00 | 135 | \$4.67 |
| Church: | Trinity UMC | \$0.00 | \$0.00 | \$45.00 | \$45.00 | 109 | \$0.41 |
| Charge: | OLANTA COWARD | | | | | | |
| Church: | Nazareth UMC | \$0.00 | \$0.00 | \$250.00 | \$250.00 | 93 | \$2.69 |
| Church: | St Paul UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 31 | \$0.00 |
| Charge: | PAMPLICO | | | | | | |
| Church: | Pamplico UMC | \$95.00 | \$0.00 | \$338.00 | \$433.00 | 95 | \$4.56 |
| Church: | Prospect UMC | \$100.00 | \$0.00 | \$297.00 | \$397.00 | 130 | \$3.05 |
| Charge: | PINEWOOD | | | | | | |
| Church: | Andrews Chapel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 18 | \$0.00 |
| Church: | Paxville UMC | \$1,500.00 | \$0.00 | \$470.00 | \$1,970.00 | 60 | \$32.83 |
| Church: | Pinewood UMC | \$0.00 | \$0.00 | \$353.00 | \$353.00 | 99 | \$3.57 |
| Charge: | PISGAH | | | | | | |
| Church: | Pisgah UMC | \$890.00 | \$1,406.00 | \$1,501.25 | \$3,797.25 | 406 | \$9.35 |
| Charge: | QUINBY - BETHSAIDA | | | | | | |
| Church: | Bethsaida UMC | \$215.00 | \$0.00 | \$0.00 | \$215.00 | 96 | \$2.24 |
| Church: | Quinby UMC | \$350.00 | \$0.00 | \$0.00 | \$350.00 | 71 | \$4.93 |
| Charge: | SALEM (FLORENCE) | | | | | | |
| Church: | Salem UMC | \$377.00 | \$0.00 | \$0.00 | \$377.00 | 364 | \$1.04 |
| Charge: | SCRANTON | | | | | | |
| Church: | Scranton UMC | \$0.00 | \$105.00 | \$65.00 | \$170.00 | 68 | \$2.50 |
| Church: | | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 36 | \$0.00 |
| Charge: | SHILOH ASBURY | | | | | | |
| Church: | Asbury UMC | \$0.00 | \$0.00 | \$40.00 | \$40.00 | 491 | \$0.08 |
| Church: | St John UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 291 | \$0.00 |
| Charge: | ST LUKE (TIMMONSVILLE) | | | | | | |
| | St Luke UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 56 | \$0.00 |
| Charge: | ST MARY | | | | | | |

| Page 11 of 3 | 3 | Monthly and Misc. | Annual Work Day | Mother's Day | Total Church Contributions | Total Church Members | Total Contribution per Church Member |
|--------------------|---|---------------------------------------|-----------------------|----------------------|-------------------------------|----------------------------|--|
| Charge: | ST MICHAEL (KINGSTREE) | | | | | | |
| Church: | St Michael UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 235 | \$0.00 |
| Charge: | ST PAUL (FLORENCE) | | | | | | |
| Church: | St Paul UMC | \$847.00 | \$0.00 | \$909.00 | \$1,756.00 | 640 | \$2.74 |
| Charge: | ST PAUL (KINGSTREE) | #0.00 | \$ 0.00 | *• • • • | ¢0.00 | 502 | #0.00 |
| Church: | St Paul UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 593 | \$0.00 |
| Charge: Church: | ST PAUL (MORRISVILLE) St Paul UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 105 | \$0.00 |
| | SUMMERTON | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 105 | \$0.00 |
| Charge: Church: | Summerton UMC | \$120.00 | \$0.00 | \$0.00 | \$120.00 | 149 | \$0.81 |
| Charge: | TABERNACLE DAWSEY | ψ120.00 | \$0.00 | \$0.00 | \$120.00 | 119 | φ0.01 |
| Church: | Dawsey UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 159 | \$0.00 |
| Church: | Tabernacle UMC | \$330.00 | \$0.00 | \$0.00 | \$330.00 | 103 | \$3.20 |
| Charge: | TIMMONSVILLE - SALEM | \$220.00 | \$0.00 | <i>Q</i> 0.00 | \$220.00 | 100 | 40.20 |
| Church: | Salem UMC | \$20.00 | \$227.00 | \$112.00 | \$359.00 | 117 | \$3.07 |
| Church: | Timmonsville UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 80 | \$0.00 |
| Charge: | TRIO | | | | | | |
| Church: | Earles UMC | \$1,500.00 | \$0.00 | \$0.00 | \$1,500.00 | 38 | \$39.47 |
| Church: | Sutton UMC | \$1,754.00 | \$0.00 | \$331.00 | \$2,085.00 | 95 | \$21.95 |
| Church: | Trio UMC | \$609.60 | \$0.00 | \$0.00 | \$609.60 | 46 | \$13.25 |
| Charge: | TURBEVILLE | | | | | | |
| Church: | Pine Grove UMC | \$195.00 | \$307.00 | \$397.00 | \$899.00 | 124 | \$7.25 |
| Church: | Shiloh UMC | \$560.00 | \$0.00 | \$230.00 | \$790.00 | 85 | \$9.29 |
| Charge: | UNION | | | | | | |
| Church: | Elim UMC | \$1,475.00 | \$500.00 | \$500.00 | \$2,475.00 | 35 | \$70.71 |
| Church: | Good Hope UMC | \$200.00 | \$0.00 | \$200.00 | \$400.00 | 103 | \$3.88 |
| Church: | Union UMC | \$15.00 | \$695.00 | \$1,160.00 | \$1,870.00 | 90 | \$20.78 |
| Charge: | WESLEY (FLORENCE) | | | | | | |
| Church: | Wesley UMC | \$25.00 | \$0.00 | \$0.00 | \$25.00 | 147 | \$0.17 |
| Charge: | WESLEY CHAPEL (LAKE CITY) | | | | | | |
| Church: | Wesley UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 465 | \$0.00 |
| | District Total | \$43,400.75 | \$20,774.00 | \$30,219.77 | \$94,394.52 | 18,336 | \$5.15 |
| District: | Greenville | | | | | | |
| Charge: | ADVENT | | | | | | |
| Church: | Advent UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 1,585 | \$0.00 |
| Charge: | ALDERSGATE (GREENVILLE) | | | | | | |
| Church: | Aldersgate UMC | \$1,607.00 | \$3,420.00 | \$445.00 | \$5,472.00 | 1,479 | \$3.70 |
| Charge: | AUGUSTA RD (PIEDMONT) | | | | | | |
| Church: | Augusta Road UMC | \$0.00 | \$182.00 | \$0.00 | \$182.00 | 371 | \$0.49 |
| Charge: | BEREA FRIENDSHIP | | | | | | |
| Church: | Berea Friendship UMC | \$1,851.00 | \$0.00 | \$0.00 | \$1,851.00 | 266 | \$6.96 |
| Charge: | BETHEL - EBENEZER | 0025.00 | \$0.00 | \$00C 00 | ¢1.021.00 | | 007.74 |
| Church: | Bethel UMC | \$835.00 | \$0.00 | \$996.00 | \$1,831.00 | 66 | \$27.74 |
| Church: | Ebenezer UMC | \$0.00 | \$0.00 | \$880.00 | \$880.00 | 103 | \$8.54 |
| Charge: Church: | BETHEL (WEST GREENVILLE) Bethel UMC | \$100.00 | \$475.00 | \$477.00 | \$1,052.00 | 38 | \$27.68 |
| Charge: | BRAMLETT-OWNINGS | \$100.00 | \$ 4 73.00 | φ + //.00 | \$1,0 <u>5</u> 2.00 | 30 | φ27.00 |
| Church: | Bramlett UMC | \$0.00 | \$143.00 | \$235.00 | \$378.00 | 246 | \$1.54 |
| Church: | Owings UMC | \$0.00 \$0.00 | \$0.00 | \$2.00 | \$0.00 | 240 9 | \$0.00 |
| Charge: | BUNCOMBE STREET | ψ0.00 | ψ0.00 | ψ0.00 | φ0.00 |) | ψ0.00 |
| Church: | Buncombe Street UMC | \$3,855.00 | \$3,860.00 | \$5,281.00 | \$12,996.00 | 2,467 | \$5.27 |
| Charge: | CHRIST (GREENVILLE) | , ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ | , | | , | _,, | |
| Church: | Christ UMC | \$200.00 | \$0.00 | \$80.00 | \$280.00 | 147 | \$1.90 |
| | | | | | | | |

| age 12 of 3 | 3 | Monthly and Misc. | Annual Work Day | Mother's Day | Total Church Contributions | Total Church Members | Total Contribution per Church Membe |
|--------------------|--------------------------------------|--|-----------------------------|-----------------|-------------------------------|----------------------------|---|
| Charge: | COVENANT | | | | | | |
| Church: | Covenant UMC | \$1,100.00 | \$1,140.00 | \$1,218.00 | \$3,458.00 | 1,352 | \$2.56 |
| Charge: | DIALS - SHILOH | | | | | | |
| Church: | Dials UMC | \$0.00 | \$0.00 | \$165.00 | \$165.00 | 209 | \$0.79 |
| Church: | Shiloh UMC | \$0.00 | \$250.00 | \$250.00 | \$500.00 | 99 | \$5.05 |
| Charge: | DISCIPLES | | | | | | |
| Church: | Disciples UMC | \$4,195.00 | \$0.00 | \$0.00 | \$4,195.00 | 296 | \$14.17 |
| Charge: | DUNEAN - BRANDON | | | | | | |
| Church: | Brandon UMC | \$20.00 | \$0.00 | \$0.00 | \$20.00 | 28 | \$0.71 |
| Church: | Dunean UMC | \$60.00 | \$0.00 | \$0.00 | \$60.00 | 58 | \$1.03 |
| Charge: | EAST GREENVILLE | ** ** | | | | | |
| | Allen View UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 57 | \$0.00 |
| Church: | Wesley Chapel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 166 | \$0.00 |
| Charge: | EMMA GRAY | | | | | | |
| Church: | Emma Gray UMC | \$325.00 | \$315.00 | \$125.00 | \$765.00 | 167 | \$4.58 |
| Charge: | ESPERANZA MISSION | ¢0.00 | ¢0.00 | ¢0.00 | ¢0.00 | | |
| Church: | Esperanza Mission Congregation U | \$0.00 | \$0.00 | \$0.00 | \$0.00 | | |
| Charge: | FAITH (GREER) Faith UMC | ¢100.00 | \$50.00 | ¢0.00 | ¢150.00 | 40 | ¢2.57 |
| | | \$100.00 | \$50.00 | \$0.00 | \$150.00 | 42 | \$3.57 |
| Charge: Church: | FEWS CHAPEL Fews Chapel UMC | \$0.00 | \$1,900.00 | \$1,013.00 | \$2,913.00 | 64 | \$45.52 |
| | FRANCIS ASBURY | \$0.00 | \$1,900.00 | \$1,015.00 | \$2,915.00 | 04 | \$45.52 |
| Charge: Church: | Francis Asbury UMC | \$165.00 | \$0.00 | \$30.00 | \$195.00 | 206 | \$0.95 |
| Charge: | GRACE - ZOAR | \$105.00 | \$0.00 | \$50.00 | \$175.00 | 200 | ψ0. <i>95</i> |
| Church: | Grace UMC | \$0.00 | \$436.00 | \$473.00 | \$909.00 | 171 | \$5.32 |
| | Zoar UMC | \$525.00 | \$0.00 | \$0.00 | \$525.00 | 87 | \$6.03 |
| Charge: | GRACE (WOODRUFF) | <i><i>v</i><i>iiiiiiiiiiiii</i></i> | <i>Q</i> 0.00 | <i>Q</i> 0.00 | <i>QU</i> | 0, | \$0.00 |
| Church: | Grace UMC | \$0.00 | \$110.00 | \$0.00 | \$110.00 | 57 | \$1.93 |
| Charge: | GRAY COURT - TRINITY | | | | | | |
| Church: | Gray Court UMC | \$95.00 | \$0.00 | \$126.00 | \$221.00 | 22 | \$10.05 |
| Church: | Trinity UMC | \$225.00 | \$1,060.00 | \$545.00 | \$1,830.00 | 26 | \$70.38 |
| Charge: | GREEN POND | | · | | - | | |
| Church: | Green Pond UMC | \$1,075.00 | \$0.00 | \$129.00 | \$1,204.00 | 171 | \$7.04 |
| Charge: | GREENVILLE KOREAN MISSION | | | | | | |
| Church: | Greenville Korean Mission UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 90 | \$0.00 |
| Charge: | GREENVILLE PARISH | | | | | | |
| Church: | Minus Chapel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 37 | \$0.00 |
| Church: | New Beginnings Mission UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 68 | \$0.00 |
| Charge: | GREER CT | | | | | | |
| Church: | Bethel UMC | \$0.00 | \$50.00 | \$0.00 | \$50.00 | 114 | \$0.44 |
| Church: | St Paul UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 109 | \$0.00 |
| Charge: | HOPEWELL | | | | | | |
| | Hopewell UMC | \$0.00 | \$325.00 | \$0.00 | \$325.00 | 161 | \$2.02 |
| Charge: | JACKSON GROVE | | | | <u>.</u> | | |
| Church: | Jackson Grove UMC | \$1,497.54 | \$0.00 | \$0.00 | \$1,497.54 | 105 | \$14.26 |
| Charge: | JOHN WESLEY (GREENVILLE) | ¢(72.00 | #0.00 | @2.42.00 | ¢1 017 00 | 0.51 | ₫4.0 <i>5</i> |
| Church: | John Wesley UMC | \$673.00 | \$0.00 | \$343.00 | \$1,016.00 | 251 | \$4.05 |
| Charge: | LAURENS ROAD | \$176 00 | ¢150.00 | ¢00.00 | ¢717.00 | 174 | ¢1.27 |
| | Laurens Road UMC | \$476.00 | \$150.00 | \$90.00 | \$716.00 | 164 | \$4.37 |
| | LEBANON (FORK SHOALS) Lebanon UMC | \$0.00 | \$0.00 | \$142.00 | \$142.00 | 74 | \$1.92 |
| CHUICH. | | <i>ф</i> 0.00 | \$0.00 | \$142.00 | \$142.00 | /4 | \$1.92 |
| | LEE ROAD (TAYLORS) | | | | | | |

| Page 13 of 3 | 33 | Monthly and Misc. | Annual Work Day | Mother's Day | Total Church Contributions | Total Church Members | Total Contribution per Church Member |
|--------------------|------------------------------------|----------------------|--------------------|-----------------|-------------------------------|----------------------------|--|
| Charge: | LIBERTY (GREER) | | | | | | |
| Church: | Liberty UMC | \$0.00 | \$0.00 | \$280.00 | \$280.00 | 74 | \$3.78 |
| Charge: | LIBERTY HILL - WOODS CHAP | | | | | | |
| Church: | Liberty Hill UMC | \$50.00 | \$315.00 | \$0.00 | \$365.00 | 197 | \$1.85 |
| Church: | Woods Chapel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 74 | \$0.00 |
| Charge: | MAULDIN | | | | | | |
| Church: | Mauldin UMC | \$3,450.00 | \$3,288.00 | \$2,685.00 | \$9,423.00 | 1,975 | \$4.77 |
| Charge: | MCBEE CHAPEL - ST JOHN | | | | | | |
| Church: | McBee UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 10 | \$0.00 |
| Church: | St John UMC | \$0.00 | \$265.00 | \$275.00 | \$540.00 | 35 | \$15.43 |
| Charge: | MEMORIAL | | | | | | |
| Church: | Memorial UMC | \$965.00 | \$1,887.00 | \$2,214.00 | \$5,066.00 | 594 | \$8.53 |
| Charge: | MONAGHAN | ** ** | | | | | |
| Church: | Monaghan UMC | \$0.00 | \$298.00 | \$60.00 | \$358.00 | 85 | \$4.21 |
| Charge: | MOUNTAIN VIEW | \$0.00 | | *75 00 | ¢1.070.00 | 070 | ¢< 0.4 |
| Church: | Mountain View UMC | \$0.00 | \$1,785.00 | \$75.00 | \$1,860.00 | 272 | \$6.84 |
| Charge: | NORTH EASLEY CHARGE | ¢1 141 00 | ¢1 0 2 0 00 | ¢0.00 | ¢2 1 (1 00 | (1 | ¢25.42 |
| Church: | Antioch UMC | \$1,141.00 | \$1,020.00 | \$0.00 | \$2,161.00 | 61 | \$35.43 |
| Church: | Dacusville UMC | \$2,154.00 | \$0.00 | \$0.00 | \$2,154.00 | 152 | \$14.17 |
| Charge: | NORTH GREENVILLE | ¢0.00 | ¢0.00 | ¢0.00 | ¢0.00 | | |
| Church: | St John UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | | |
| Charge: | NORTHSIDE | ¢0.00 | \$395.00 | £205 00 | ¢1,000,00 | 252 | ¢4.22 |
| Church: | Northside UMC | \$0.00 | \$285.00 | \$805.00 | \$1,090.00 | 252 | \$4.33 |
| Charge: Church: | PIEDMONT Piedmont UMC | \$356.40 | \$319.60 | \$436.95 | \$1,112.95 | 262 | \$4.25 |
| | | \$550.40 | \$319.00 | \$430.93 | \$1,112.93 | 202 | \$4.25 |
| Charge: Church: | PIEDMONT PARK Piedmont Park UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 55 | \$0.00 |
| | PISGAH - OAK HILL | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 55 | \$0.00 |
| Charge: Church: | Oak Hill UMC | \$0.00 | \$379.00 | \$386.00 | \$765.00 | 78 | \$9.81 |
| Church: | Pisgah UMC | \$7,381.00 | \$0.00 | \$0.00 | \$7,381.00 | 100 | \$73.81 |
| Charge: | SALEM (GREENVILLE) | \$7,561.00 | \$0.00 | \$0.00 | \$7,561.00 | 100 | \$75.01 |
| 0 | Salem UMC | \$51.00 | \$0.00 | \$363.00 | \$414.00 | 260 | \$1.59 |
| Charge: | SHARON | \$51.00 | \$0.00 | \$505.00 | φ111.00 | 200 | \$1.5 |
| Church: | Sharon UMC | \$300.00 | \$1,235.00 | \$1,035.00 | \$2,570.00 | 284 | \$9.05 |
| Charge: | SIMPSONVILLE | | +-, | | ,- , | | 47102 |
| Church: | Simpsonville UMC | \$400.00 | \$1,519.00 | \$1,713.00 | \$3,632.00 | 1,331 | \$2.73 |
| Charge: | SLATER | | | | | | |
| Church: | Slater UMC | \$0.00 | \$0.00 | \$388.26 | \$388.26 | 80 | \$4.85 |
| Charge: | SOUTH GREENVILLE | | | | | | |
| Church: | Bethlehem UMC | \$50.00 | \$0.00 | \$96.00 | \$146.00 | 76 | \$1.92 |
| Church: | Laurel Creek UMC | \$50.00 | \$0.00 | \$0.00 | \$50.00 | 159 | \$0.31 |
| Charge: | ST MARK - ST MATTHEW | | | | | | |
| Church: | St Mark UMC | \$100.00 | \$132.00 | \$440.00 | \$672.00 | 377 | \$1.78 |
| Church: | St Matthew UMC | \$415.00 | \$0.00 | \$0.00 | \$415.00 | 121 | \$3.43 |
| Charge: | ST MARK (GREENVILLE) | | | | | | |
| Church: | St Mark UMC | \$951.00 | \$0.00 | \$0.00 | \$951.00 | 90 | \$10.57 |
| Charge: | ST MATTHEW (GREENVILLE) | | | | | | |
| Church: | St Matthew UMC | \$3,425.00 | \$0.00 | \$170.00 | \$3,595.00 | 547 | \$6.57 |
| Charge: | ST PAUL (GREENVILLE) | | | | | | |
| Church: | St Paul UMC | \$817.00 | \$0.00 | \$716.00 | \$1,533.00 | 124 | \$12.36 |
| Charge: | TRAVELERS REST | | | | | | |
| Church: | North Greenville UMC | \$0.00 | \$100.00 | \$0.00 | \$100.00 | 232 | \$0.43 |
| Church. | | + • • • • | \$100.00 | ψ0.00 | \$100.00 | 202 | <i>\$</i> 0.15 |

| Page 14 of 3 | 33 | Monthly and Misc. | Annual Work Day | Mother's Day | Total Church Contributions | Total Church Members | Total Contribution per Church Member |
|--------------------|---|---------------------|--------------------|-----------------------|-------------------------------|----------------------------|--|
| Charge: | TRINITY (FOUNTAIN INN) | | | | | | |
| Church: | Trinity UMC | \$175.00 | \$415.00 | \$345.00 | \$935.00 | 383 | \$2.44 |
| Charge: | TRINITY (GREENVILLE) | | | | | | |
| Church: | Trinity UMC | \$450.00 | \$1,170.00 | \$621.00 | \$2,241.00 | 436 | \$5.14 |
| Charge: | VICTOR | | | | | | |
| Church: | Victor UMC | \$100.00 | \$105.00 | \$343.00 | \$548.00 | 84 | \$6.52 |
| | District Total | \$42,335.94 | \$31,118.26 | \$27,478.21 | \$100,932.41 | 20,974 | \$4.81 |
| District: | Greenwood | | | | | | |
| Charge: Church: | ALDERSGATE (GREENWOOD) Aldersgate UMC |) \$0.00 | \$70.00 | \$310.00 | \$380.00 | 148 | \$2.57 |
| Charge: | BELVEDERE | | | | | | |
| Church: | Belvedere UMC | \$440.00 | \$186.00 | \$71.00 | \$697.00 | 122 | \$5.71 |
| Charge: | BETHANY - ZOAR | | | | | | |
| Church: | Bethany UMC | \$100.00 | \$1,050.00 | \$1,000.00 | \$2,150.00 | 230 | \$9.35 |
| Church: | Zoar UMC | \$0.00 | \$0.00 | \$71.00 | \$71.00 | 82 | \$0.87 |
| Charge: | BETHLEHEM - GASSAWAY | | | | | | |
| Church: | Bethlehem UMC | \$158.00 | \$0.00 | \$0.00 | \$158.00 | 102 | \$1.55 |
| Church: | 5 | \$413.00 | \$0.00 | \$400.00 | \$813.00 | 70 | \$11.61 |
| Charge: | BETHLEHEM (GREENWOOD) | | ¢165.00 | ¢0.00 | ¢175.00 | 50 | #2.20 |
| Church: | | \$0.00 | \$165.00 | \$0.00 | \$165.00 | 50 | \$3.30 |
| Charge: Church: | BRANCH HILL- MARTHAS CH | | \$0.00 | £0.00 | 00.02 | 25 | 00.02 |
| | Branch Hill UMC | \$0.00 | \$0.00 \$0.00 | \$0.00 \$0.00 | \$0.00 | 35 | \$0.00 |
| Church: | Marthas Chapel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 31 | \$0.00 |
| Charge: Church: | BROAD STREET Broad Street UMC | \$555.00 | \$20.00 | \$785.00 | \$1,360.00 | 453 | \$3.00 |
| Charge: | BUTLER - SHILOH | \$555.00 | \$20.00 | \$785.00 | \$1,500.00 | 455 | \$5.00 |
| Church: | Butler UMC | \$225.00 | \$170.00 | \$330.00 | \$725.00 | 126 | \$5.75 |
| Church: | Shiloh UMC | \$752.00 | \$0.00 | \$0.00 | \$752.00 | 130 | \$5.78 |
| Charge: | CAMBRIDGE (NINETY SIX) | \$752.00 | <i>\\</i> 0.00 | \$0.00 | <i>\$752.00</i> | 150 | \$5.76 |
| Church: | Cambridge UMC | \$248.00 | \$0.00 | \$0.00 | \$248.00 | 238 | \$1.04 |
| Charge: | CENTRAL - SANDY SPRINGS | | | | | | |
| Church: | Central UMC | \$25.00 | \$300.00 | \$0.00 | \$325.00 | 62 | \$5.24 |
| Church: | Sandy Springs UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 65 | \$0.00 |
| Charge: | CENTRAL (NEWBERRY) | | | | | | |
| Church: | Central UMC | \$680.00 | \$0.00 | \$1,871.00 | \$2,551.00 | 615 | \$4.15 |
| Charge: | COKESBURY - HODGES | | | | | | |
| Church: | Cokesbury UMC | \$0.00 | \$75.00 | \$156.00 | \$231.00 | 56 | \$4.13 |
| Church: | Hodges UMC | \$50.00 | \$0.00 | \$600.00 | \$650.00 | 139 | \$4.68 |
| Charge: | EBENEZER | | | | | | |
| Church: | Ebenezer UMC | \$0.00 | \$112.00 | \$190.00 | \$302.00 | 30 | \$10.07 |
| Charge: | EDGEFIELD | #2 412 00 | | \$0.00 | ¢ 4 000 00 | 2(1 | |
| Church: | Edgefield UMC | \$2,413.90 | \$1,677.00 | \$0.00 | \$4,090.90 | 261 | \$15.67 |
| Charge: Church: | EMORY - NAZARETH | \$75.00 | \$0.00 | \$25.00 | \$100.00 | 100 | \$0.53 |
| Church: | Emory UMC Nazareth UMC | \$75.00 \$550.00 | \$0.00 | \$25.00 \$1.552.25 | \$100.00 \$2,415,25 | 190 222 | \$0.33 \$15.38 |
| | | | \$1,515.00 | \$1,552.25 | \$3,415.25 | 222 | \$15.58 |
| Charge: Church: | EPTING MEMORIAL - LEBAN Epting Memorial UMC | \$3,106.00 | \$305.00 | \$300.25 | \$3,711.25 | 222 | \$16.72 |
| | Lebanon UMC | \$10.00 | \$65.00 | \$70.00 | \$145.00 | 30 | \$4.83 |
| Charge: | EPWORTH - SPRINGDALE | φ10.00 | <i>\\$05.00</i> | φ/0.00 | φ1 τ2.00 | 50 | ψ1.05 |
| Church: | Epworth UMC | \$20.00 | \$0.00 | \$0.00 | \$20.00 | 133 | \$0.15 |
| Church: | Springdale UMC | \$300.00 | \$0.00 | \$50.00 | \$350.00 | 59 | \$5.93 |
| Charge: | FIRST (LAURENS) | ÷= • • • • • • | - 3.00 | 42 9100 | ÷==== | | |
| Church: | First UMC | \$50.00 | \$1,111.00 | \$1,074.00 | \$2,235.00 | 504 | \$4.43 |

| Page 15 of 3 | 3 | Monthly and Misc. | Annual Work Day | Mother's Day | Total Church Contributions | Total Church Members | Total Contribution per Church Member |
|--------------------|--|-------------------|--------------------|-----------------|-------------------------------|----------------------------|--|
| Charge: | GRACE (NORTH AUGUSTA) | | | | | | |
| Church: | Grace UMC | \$4,152.00 | \$1,959.00 | \$2,394.00 | \$8,505.00 | 1,907 | \$4.46 |
| Charge: | GREENWOOD - NINETY SIX | | | | | | |
| Church: | Mays UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 52 | \$0.00 |
| Church: | Trinity UMC | \$50.00 | \$0.00 | \$0.00 | \$50.00 | 68 | \$0.74 |
| Charge: | HOPEWELL - SHARON | | | | | | |
| Church: | Hopewell UMC | \$32.00 | \$96.00 | \$192.00 | \$320.00 | 45 | \$7.11 |
| Church: | Sharon UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 24 | \$0.00 |
| Charge: | JOHNSTON - HARMONY | | | | | | |
| Church: | Harmony UMC | \$2,563.55 | \$0.00 | \$1,345.55 | \$3,909.10 | 225 | \$17.37 |
| Church: | Johnston UMC | \$1,575.00 | \$225.00 | \$1,751.00 | \$3,551.00 | 196 | \$18.12 |
| Charge: | LANGLEY - BATH - CAPERS C | HAPEL | | | | | |
| Church: | Bath UMC | \$50.00 | \$51.00 | \$0.00 | \$101.00 | 89 | \$1.13 |
| Church: | Capers Chapel UMC | \$0.00 | \$27.00 | \$127.00 | \$154.00 | 80 | \$1.93 |
| Church: | Langley UMC | \$320.00 | \$643.04 | \$0.00 | \$963.04 | 231 | \$4.17 |
| Charge: | LAURENS CHARGE | | | | | | |
| Church: | Calvary UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 6 | \$0.00 |
| Church: | Mt Carmel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 47 | \$0.00 |
| Charge: | LEESVILLE | | | | | | |
| Church: | Leesville UMC | \$550.00 | \$1,473.00 | \$1,330.00 | \$3,353.00 | 388 | \$8.64 |
| Charge: | LEWIS MEMORIAL | | | | | | |
| Church: | Lewis Memorial UMC | \$202.00 | \$116.00 | \$10.00 | \$328.00 | 268 | \$1.22 |
| Charge: | LOWELL STREET | | | | | | |
| Church: | Lowell Street UMC | \$25.00 | \$453.00 | \$0.00 | \$478.00 | 127 | \$3.76 |
| Charge: | LUPO MEMORIAL (GREENWO | | | | | | |
| Church: | Lupo Memorial UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 95 | \$0.00 |
| Charge: | MAIN STREET (GREENWOOD | | | | | | |
| Church: | Main Street UMC | \$760.00 | \$1,716.00 | \$2,076.00 | \$4,552.00 | 1,191 | \$3.82 |
| Charge: | MATHEWS - HARRIS | | ** ** | | | | |
| Church: | Harris UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 110 | \$0.00 |
| | Mathews UMC | \$54.00 | \$0.00 | \$0.00 | \$54.00 | 148 | \$0.36 |
| Charge: | MCCORMICK | * 100.00 | | | * 0 0 0 | • (1 | AA A A |
| Church: | | \$190.00 | \$120.00 | \$260.00 | \$570.00 | 261 | \$2.18 |
| Charge: | MT BETHEL - KINGS CHAPEL | | ¢0.00 | ¢0.00 | ¢0.00 | 25 | ¢0.00 |
| | Kings Chapel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 25 | \$0.00 |
| | Mt Bethel UMC | \$200.00 | \$0.00 | \$555.00 | \$755.00 | 89 | \$8.48 |
| Charge: | MT CARMEL (GREEWOOD) | ¢0.00 | ¢150.00 | ¢0.00 | ¢150.00 | 05 | ¢1.76 |
| Church: | Mt Carmel UMC | \$0.00 | \$150.00 | \$0.00 | \$150.00 | 85 | \$1.76 |
| Charge: Church: | MT LEBANON - KINARDS Kinards UMC | \$0.00 | \$0.00 | \$165.00 | \$165.00 | 62 | \$2.66 |
| | | | | | | | |
| | Mt Lebanon UMC | \$0.00 | \$0.00 | \$270.00 | \$270.00 | 92 | \$2.93 |
| Charge: | MT PLEASANT (POMARIA) Mt Pleasant UMC | \$216.00 | \$521.35 | \$300.00 | \$1,037.35 | 215 | \$4.82 |
| Charge: | ONEAL STREET - EBENEZER | \$210.00 | \$321.33 | \$300.00 | \$1,037.33 | 215 | \$4.02 |
| Charge: Church: | | \$2,310.00 | \$0.00 | \$0.00 | \$2,310.00 | 87 | \$26.55 |
| Church: | | \$544.62 | \$0.00 | \$0.00 | \$544.62 | 91 | \$5.98 |
| Charge: | PANOLA | \$J44.0Z | \$U.UU | \$U.UU | \$J44.02 | 91 | \$J.70 |
| 0 | PANOLA Panola UMC | \$170.00 | \$155.00 | \$50.00 | \$375.00 | 67 | \$5.60 |
| Charge: | PLUM BRANCH CHARGE | φ170.00 | ψ155.00 | ψυ0.00 | ψ575.00 | 07 | ψ5.00 |
| Church: | | \$0.00 | \$0.00 | \$100.00 | \$100.00 | 148 | \$0.68 |
| Church: | - | \$0.00 | \$0.00 | \$0.00 | \$100.00 | 47 | \$0.08 \$0.00 |
| Charge: | POMARIA CHARGE | \$ U .00 | \$0.00 | \$0.00 | \$0.00 | +/ | \$0.00 |
| | | | | | | | |

| Page 16 of 33 | | Monthly and Misc. | Annual Work Day | Mother's Day | Total Church Contributions | Total Church Members | Total Contribution per Church Member |
|--------------------|---|----------------------------|--|----------------------|-------------------------------|----------------------------|--|
| Church: | New Hope UMC | \$315.00 | \$389.00 | \$500.00 | \$1,204.00 | 182 | \$6.62 |
| Charge: Church: | REHOBOTH Rehoboth UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 257 | \$0.00 |
| Charge: | RIDGE SPRING | 40.00 | \$0.00 | \$0.00 | \$0.00 | 201 | \$0.00 |
| Church: | Ridge Spring UMC | \$0.00 | \$241.00 | \$221.00 | \$462.00 | 19 | \$24.32 |
| Church: | Spann UMC | \$0.00 | \$572.00 | \$593.00 | \$1,165.00 | 9 | \$129.44 |
| Charge: Church: | SOULE CHAPEL Soule Chapel UMC | \$254.00 | \$0.00 | \$0.00 | \$254.00 | 34 | \$7.47 |
| Charge: | Source Chapter OWC ST JAMES (LAURENS) | \$254.00 | \$0.00 | \$0.00 | \$254.00 | 54 | \$7.47 |
| Church: | ST JAMES (LAUKENS) St James UMC | \$0.00 | \$355.00 | \$0.00 | \$355.00 | 234 | \$1.52 |
| Charge: | ST JOHN - WARRENVILLE | • • • • • | | • • • • • | • | - | • • • |
| Church: | St John UMC | \$120.00 | \$0.00 | \$505.00 | \$625.00 | 340 | \$1.84 |
| Church: | Warrenville UMC | \$0.00 | \$0.00 | \$95.00 | \$95.00 | 31 | \$3.06 |
| Charge: Church: | ST JOHNS (BATESBURG) St Johns UMC | \$1,100.00 | \$737.00 | \$0.00 | \$1,837.00 | 225 | \$8.16 |
| Charge: | ST MARK (GREENWOOD) | \$1,100.00 | \$757.00 | \$0.00 | \$1,0 <i>3</i> 7.00 | 223 | \$0.10 |
| Church: | ST MARK (GREENWOOD) St Mark UMC | \$2,259.50 | \$2,081.75 | \$2,497.75 | \$6,839.00 | 1,236 | \$5.53 |
| Charge: | ST PAUL (NINETY SIX) | . , • | ,,. | | +-,/.00 | -,=00 | ÷0.00 |
| Church: | St Paul UMC | \$694.81 | \$180.00 | \$455.00 | \$1,329.81 | 222 | \$5.99 |
| Charge: | ST PAUL (SALUDA) | | | | | | |
| Church: | St Paul UMC | \$1,824.25 | \$120.00 | \$1,160.00 | \$3,104.25 | 342 | \$9.08 |
| Charge: | TRANQUIL | | | | | | |
| Church: | Tranquil UMC | \$925.57 | \$0.00 | \$910.00 | \$1,835.57 | 379 | \$4.84 |
| Charge: | TRENTON - MCKENDREE | #0.2 - 0 | ¢ 4 1 00 | ¢140.70 | #202.00 | 70 | ¢2.50 |
| Church: | McKendree UMC | \$93.50 \$051.50 | \$41.00 | \$148.50 | \$283.00 \$051.50 | 79 52 | \$3.58 \$18.20 |
| Church: | Trenton UMC | \$951.50 | \$0.00 | \$0.00 | \$951.50 | 52 | \$18.30 |
| Charge: Church: | TRINITY - NEW CHAPEL New Chapel UMC | \$265.00 | \$100.00 | \$250.00 | \$615.00 | 41 | \$15.00 |
| Church: | Trinity UMC | \$203.00 | \$380.00 | \$250.00 \$457.00 | \$1,637.02 | 215 | \$13.00 \$7.61 |
| Charge: | TROY | φ000.02 | <i>\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\</i> | φ157.00 | ψ1,0 <i>0</i> 7.02 | 215 | ψ/.01 |
| Church: | Troy UMC | \$127.00 | \$699.00 | \$426.00 | \$1,252.00 | 145 | \$8.63 |
| Charge: | VAUCLUSE - PENTECOST | | | | | | |
| Church: | Pentecost UMC | \$25.00 | \$210.00 | \$175.00 | \$410.00 | 62 | \$6.61 |
| Church: | Vaucluse UMC | \$0.00 | \$60.00 | \$145.00 | \$205.00 | 101 | \$2.03 |
| Charge: | WARE SHOALS - HARMONY | | | | | | |
| | Harmony UMC | \$200.00 | \$175.00 | \$200.00 | \$575.00 | 95 | \$6.05 |
| Church: | | \$0.00 | \$505.00 | \$616.07 | \$1,121.07 | 125 | \$8.97 |
| Charge: | WATERLOO | ¢15 00 | \$ 335 00 | \$205 AA | \$C25.00 | 05 | ¢7 47 |
| Church: | Waterloo UMC | \$15.00 | \$235.00 | \$385.00 | \$635.00 | 85 | \$7.47 |
| Charge: Church: | WIGHTMAN (PROSPERITY) Wightman UMC | \$4,369.37 | \$1,282.00 | \$3,476.00 | \$9,127.37 | 547 | \$16.69 |
| Charge: | ZION (PROSPERITY) | φ1,507.57 | ψ1,202.00 | ψ5, 170.00 | Ψ,121.31 | 577 | <i>\(\phi\)</i> |
| - | Zion UMC | \$2,865.02 | \$0.00 | \$1,103.34 | \$3,968.36 | 299 | \$13.27 |
| | District Total | \$41,339.61 | \$22,935.14 | \$34,494.71 | \$98,769.46 | 16,364 | \$6.04 |
| istrict: | Hartsville | | | | | | |
| Charge: | ALDERSGATE (SUMTER) | | | | | | |
| Church: | Aldersgate UMC | \$2,076.00 | \$0.00 | \$315.00 | \$2,391.00 | 790 | \$3.03 |
| Charge: | BETHEL (OSWEGO) | | | | | | |
| | Bethel UMC | \$2,506.67 | \$1,251.51 | \$1,660.49 | \$5,418.67 | 293 | \$18.49 |
| Charge: | BETHLEHEM - PROSPECT | AA A A A A A A A A | ** ** | h / / A - A | ** • • • • • | | *** ** |
| Church: | Bethlehem UMC | \$2,146.31 | \$0.00 | \$669.50 | \$2,815.81 | 154 | \$18.28 |
| Church: | Prospect UMC | \$453.00 | \$0.00 | \$25.00 | \$478.00 | 110 | \$4.35 |
| Charge: | BETHLEHEM (BISHOPVILLE) | | | | | | |
| | | | | | | | |

| Page 17 of 33 | 3 | Monthly and Misc. | Annual Work Day | Mother's Day | Total Church Contributions | Total Church Members | Total Contribution per Church Member |
|---------------|-----------------------------------|-------------------|--------------------|------------------|-------------------------------|----------------------------|--|
| Church: | Bethlehem UMC | \$420.00 | \$375.00 | \$220.00 | \$1,015.00 | 384 | \$2.64 |
| 0 | BETHUNE | | | | | | |
| Church: | Bethel UMC | \$125.00 | \$300.00 | \$280.00 | \$705.00 | 86 | \$8.20 |
| Church: | Sandy Grove UMC | \$300.00 | \$242.00 | \$25.00 | \$567.00 | 46 | \$12.33 |
| 0 | BISHOPVILLE CT | | | | | | |
| | New Haven UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 145 | \$0.00 |
| Church: | Springhill UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 107 | \$0.00 |
| 0 | CAMDEN FIRST | | | | | | |
| | Camden First UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 316 | \$0.00 |
| 0 | CENTENARY - KINGSVILLE | | **** | | | | |
| | Centenary UMC | \$300.00 | \$200.00 | \$0.00 | \$500.00 | 160 | \$3.13 |
| | Kingsville UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 95 | \$0.00 |
| 8 | CHERAW PARISH | ** ** | | | | | |
| Church: | Bethel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 104 | \$0.00 |
| Church: | Mt Zion UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 48 | \$0.00 |
| Church: | Wesley UMC | \$0.00 | \$3.00 | \$0.00 | \$3.00 | 20 | \$0.15 |
| 0 | CHESTERFIELD PAR | | | | | | |
| | Mt Tabor UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 20 | \$0.00 |
| Church: | Wesley Chapel UMC | \$91.26 | \$0.00 | \$40.00 | \$131.26 | 28 | \$4.69 |
| 0 | DALZELL | | | | | | |
| | Dalzell UMC | \$645.00 | \$524.00 | \$253.00 | \$1,422.00 | 240 | \$5.93 |
| 0 | EAST CAMDEN | ** ** | | | | | |
| | Emmanuel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 60 | \$0.00 |
| | St Matthew UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 174 | \$0.00 |
| - | EMMANUEL (SUMTER) | ** ** | | | | | |
| | Emmanuel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 519 | \$0.00 |
| 0 | FIRST (CHERAW) | \$275.00 | #202 00 | \$00 2 00 | ¢1.5<0.00 | (10) | *2 4 4 |
| | First Church UMC | \$375.00 | \$382.00 | \$803.00 | \$1,560.00 | 640 | \$2.44 |
| 0 | GOOD HOPE WESLEY CHAPEL | \$100.00 | 00.03 | ¢0.00 | ¢100.00 | 244 | ¢0.41 |
| Church: | Good Hope Wesley Chapel UMC | \$100.00 | \$0.00 | \$0.00 | \$100.00 | 244 | \$0.41 |
| 8 | HEBRON Hebron UMC | \$200.00 | \$725.00 | \$845.00 | \$1,770.00 | 100 | \$17.70 |
| | INDIAN BRANCH - TWITTY | \$200.00 | \$725.00 | \$645.00 | \$1,770.00 | 100 | \$17.70 |
| 0 | Indian Branch UMC | \$358.80 | \$265.00 | \$665.00 | \$1,288.80 | 133 | \$9.69 |
| | Twitty UMC | \$0.00 | \$205.00 | \$90.00 | \$1,288.80 | 25 | \$3.60 |
| | JEFFERSON CHARGE | \$0.00 | \$0.00 | \$90.00 | \$90.00 | 25 | \$5.00 |
| - | Fork Creek UMC | \$0.00 | \$0.00 | \$306.00 | \$306.00 | 172 | \$1.78 |
| | Jefferson UMC | \$0.00 | \$0.00 \$0.00 | \$0.00 | \$0.00 | 70 | \$0.00 |
| | JEFFERSON PARISH | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 70 | \$0.00 |
| 0 | Mt Elon UMC | \$92.00 | \$0.00 | \$0.00 | \$92.00 | 93 | \$0.99 |
| | Sandy Grove UMC | \$0.00 | \$0.00 | \$0.00 | \$92.00 | 117 | \$0.00 |
| | Wesley Chapel UMC | \$0.00 \$0.00 | | | | 22 | \$0.00 \$0.00 |
| Church: | | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 22 | \$0.00 |
| 0 | JEFFERSON PARRISH Hopewell UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 82 | \$0.00 |
| | KELLYBELL - SANDY BLUFF | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 62 | \$0.00 |
| - | Kellybell UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 66 | \$0.00 |
| Church: | Sandy Bluff UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 91 | \$0.00 \$0.00 |
| | LAMAR | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 91 | \$0.00 |
| 8 | Lamar UMC | \$620.00 | \$1,287.00 | \$950.00 | \$2,857.00 | 271 | \$10.54 |
| | LAMAR CT | ψ020.00 | φ1,207.00 | \$750.00 | φ2,057.00 | 2/1 | φ10. 3 4 |
| 0 | Elim UMC | \$1,300.00 | \$0.00 | \$150.00 | \$1,450.00 | 84 | \$17.26 |
| | Newman Swamp UMC | \$0.00 | \$0.00 | \$35.00 | \$1,450.00 | 84 49 | \$0.71 |
| | Zion UMC | | | | | | \$0.71 |
| Church: | | \$25.00 | \$0.00 | \$67.00 | \$92.00 | 29 | \$5.1/ |

| age 18 of 3 | 33 | Monthly and Misc. | Annual Work Day | Mother's Day | Total Church Contributions | Total Church Members | Total Contribution per Church Member |
|--------------------|-------------------------------|-------------------|--------------------|----------------------|-------------------------------|----------------------------|--|
| Charge: | LAMAR EBENEZER | | | | | | |
| Church: | | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 90 | \$0.00 |
| Church: | John Wesley UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 166 | \$0.00 |
| Church: | Sandy Grove UMC | \$50.00 | \$0.00 | \$0.00 | \$50.00 | 187 | \$0.27 |
| Charge: | LUGOFF PARISH | | | | | | |
| Church: | Mt Joshua UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 14 | \$0.00 |
| Church: | Mt Prospect UMC | \$0.00 | \$57.00 | \$0.00 | \$57.00 | 38 | \$1.50 |
| Church: | Shiloh UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 16 | \$0.00 |
| Charge: | LYTTLETON STREET | | | | | | |
| Church: | Lyttleton Street UMC | \$5,386.11 | \$1,963.00 | \$2,468.00 | \$9,817.11 | 1,006 | \$9.76 |
| Charge: | MCBEE CHARGE | | | | | | |
| Church: | Hebron UMC | \$0.00 | \$0.00 | \$150.00 | \$150.00 | 25 | \$6.00 |
| Church: | McBee UMC | \$200.00 | \$0.00 | \$35.00 | \$235.00 | 38 | \$6.18 |
| Charge: | MECHANICSVILLE | | | | | | |
| Church: | Mechanicsville UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 603 | \$0.00 |
| Charge: | MT BEULAH - NEW HOPE | | | | | | |
| Church: | | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 136 | \$0.00 |
| Church: | New Hope UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 40 | \$0.00 |
| Charge: | MT OLIVET - PLEASANT G | | | | | | |
| Church: | Mt Olivet UMC | \$4,282.01 | \$0.00 | \$0.00 | \$4,282.01 | 74 | \$57.87 |
| Church: | Pleasant Grove UMC | \$20.00 | \$0.00 | \$0.00 | \$20.00 | 203 | \$0.10 |
| Charge: | MT ZION - NORTH SUMTER | | | | | | |
| Church: | Antioch UMC | \$245.00 | \$0.00 | \$0.00 | \$245.00 | 173 | \$1.42 |
| Church: | Mt Zion UMC | \$331.66 | \$0.00 | \$0.00 | \$331.66 | 145 | \$2.29 |
| Church: | Shepherd UMC | \$50.00 | \$0.00 | \$0.00 | \$50.00 | 61 | \$0.82 |
| Charge: | MT ZION (BISHOPVILLE) | | | | | | |
| Church: | Mt Zion UMC | \$393.00 | \$134.00 | \$0.00 | \$527.00 | 102 | \$5.17 |
| Charge: | NEW MARKET - TABERNAC | | | | | | |
| Church: | | \$175.00 | \$0.00 | \$0.00 | \$175.00 | 139 | \$1.26 |
| Church: | Tabernacle UMC | \$50.00 | \$0.00 | \$0.00 | \$50.00 | 30 | \$1.67 |
| Charge: | NEW PROVIDENCE | | ** ** | | | | |
| | New Providence UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 338 | \$0.00 |
| Charge: | ORO | ¢101.00 | \$0.00 | \$0.00 | ¢101.00 | 010 | ¢0.47 |
| Church: | | \$101.00 | \$0.00 | \$0.00 | \$101.00 | 213 | \$0.47 |
| Charge: | OSWEGO CT | ¢0.00 | ¢0.00 | \$0.00 | ¢0.00 | 201 | ¢0.00 |
| Church: | | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 301 | \$0.00 |
| | | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 216 | \$0.00 |
| | St Mark UMC | \$10.00 | \$0.00 | \$0.00 | \$10.00 | 148 | \$0.07 |
| Charge: | PAGELAND | ¢0.00 | #202 00 | ¢0.00 | \$202 00 | 110 | 00 FC |
| Church: | e e | \$0.00 | \$392.00 | \$0.00 | \$392.00 | 110 | \$3.56 |
| Charge: | PINE GROVE - EPWORTH | \$0.00 | \$300.00 | \$300.00 | \$600.00 | 04 | \$6.25 |
| Church: | 1 | | | | | 96 87 | |
| | Pine Grove UMC | \$0.00 | \$106.00 | \$0.00 | \$106.00 | 87 | \$1.22 |
| Charge: Church: | REMBERT ST JOHN Beulah UMC | \$140.00 | \$166.00 | \$0.00 | \$306.00 | 39 | \$7.85 |
| | McLeod Chapel UMC | \$0.00 | \$415.00 | \$0.00 | \$415.00 | 62 | \$7.83 \$6.69 |
| Church: | - | \$550.00 | \$413.00 | \$0.00 \$0.00 | | | \$0.09 \$7.14 |
| | | \$330.00 | \$0.00 | 20.00 | \$550.00 | 77 | \$/.14 |
| Charge: | RUBY Bethel UMC | \$300.00 | \$0.00 | \$0.00 | \$300.00 | 33 | \$9.09 |
| Church: | | \$300.00 | \$0.00 \$0.00 | \$100.00 | \$100.00 | 73 | \$9.09 \$1.37 |
| | | \$0.00 | \$0.00 \$0.00 | \$100.00 \$293.00 | \$100.00 | 73 77 | \$1.37 |
| Church: | - | \$0.00 \$25.00 | | \$293.00 \$0.00 | \$293.00 \$25.00 | 18 | \$3.81 \$1.39 |
| Chamalas | Mt Croghan UMC | | \$0.00 | | | | |

| age 19 of 3 | 3 | Monthly and Misc. | Annual Work Day | Mother's Day | Total Church Contributions | Total Church Members | Total Contribution per Church Member |
|--------------------|--|-------------------|-----------------------------|-----------------|-------------------------------|----------------------------|--|
| Church: | Salem UMC | \$0.00 | \$0.00 | \$133.00 | \$133.00 | 209 | \$0.64 |
| Charge: | SHILOH (CHESTERFIELD) | | | | | | |
| Church: | Shiloh UMC | \$525.00 | \$2,858.00 | \$1,880.00 | \$5,263.00 | 231 | \$22.78 |
| Charge: | SHILOH (DARLINGTON) | | | | | | |
| Church: | Shiloh UMC | \$160.50 | \$0.00 | \$110.00 | \$270.50 | 127 | \$2.13 |
| Charge: | ST JAMES (DARLINGTON) | | | | | | |
| Church: | St James UMC | \$50.00 | \$100.00 | \$100.00 | \$250.00 | 267 | \$0.94 |
| Charge: | ST JAMES (SUMTER) | | | | | | |
| Church: | St James UMC | \$0.00 | \$0.00 | \$195.00 | \$195.00 | 276 | \$0.71 |
| Charge: | ST JOHN - WESLEY CHAPEL | | ** ** | | | | |
| Church: | St John UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 124 | \$0.00 |
| Church: | Wesley Chapel UMC | \$425.00 | \$0.00 | \$0.00 | \$425.00 | 77 | \$5.52 |
| Charge: | ST JOHN (SUMTER) | | | | | | |
| Church: | | \$224.00 | \$359.00 | \$344.00 | \$927.00 | 142 | \$6.53 |
| Charge: | ST JOHN'S (LUGOFF) | ** *** ** | ** / < * * | | | | |
| Church: | | \$2,890.69 | \$946.00 | \$2,125.50 | \$5,962.19 | 593 | \$10.05 |
| Charge: | ST LUKE (HARTSVILLE) | *2 000 00 | \$0.00 | \$050.00 | *2 0 /7 00 | 1 000 | \$2.7 0 |
| | St Luke UMC | \$2,088.00 | \$0.00 | \$859.00 | \$2,947.00 | 1,090 | \$2.70 |
| - | ST MARK (SUMTER) | \$0.00 | \$0.00 | #0.00 | \$ 0.00 | 274 | \$0.00 |
| | St Mark UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 374 | \$0.00 |
| Charge: | ST MARK'S (BROAD ST) | ¢125.00 | ¢270.00 | ¢220.00 | #024.00 | 0.57 | #2.25 |
| Church: | St Marks UMC | \$125.00 | \$379.00 | \$330.00 | \$834.00 | 257 | \$3.25 |
| Charge: | ST MATTHEW CT | ¢0.00 | ¢000.00 | ¢000.00 | ¢1 000 00 | 1.5 | ¢1 2 0.00 |
| Church: | Ashland UMC | \$0.00 | \$900.00 | \$900.00 | \$1,800.00 | 15 | \$120.00 |
| | Concord UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 56 | \$0.00 |
| | St Matthew UMC | \$25.00 | \$325.90 | \$486.00 | \$836.90 | 177 | \$4.73 |
| Charge: | ST PAUL (CAMDEN) | \$0.00 | \$0.00 | #0.00 | \$ 0.00 | 2.12 | \$0.00 |
| | St Paul UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 243 | \$0.00 |
| Charge: | ST PAUL (CHESTERFIELD) | ¢100.00 | ¢ 420.00 | \$720.00 | ¢1 240 00 | 205 | ¢C 54 |
| Church: | | \$180.00 | \$430.00 | \$730.00 | \$1,340.00 | 205 | \$6.54 |
| 0 | TRINITY (DARLINGTON) Trinity UMC | ¢110.00 | ¢2 022 06 | \$0.00 | \$2,133.96 | 150 | \$1.66 |
| | • | \$110.00 | \$2,023.96 | \$0.00 | \$2,155.90 | 458 | \$4.66 |
| Charge: Church: | TRINITY (SUMTER) Trinity UMC | \$2,775.00 | \$2,596.41 | \$2,891.00 | \$8,262.41 | 757 | \$10.91 |
| | UNION (MCBEE) | \$2,775.00 | \$2,390.41 | \$2,891.00 | \$6,202.41 | 151 | \$10.71 |
| Charge: Church: | Union UMC | \$1,477.50 | \$0.00 | \$509.50 | \$1,987.00 | 229 | \$8.68 |
| Charge: | UNITY | \$1,77.30 | \$0.00 | \$507.50 | \$1,787.00 | 22) | \$6.00 |
| Church: | Unity UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 276 | \$0.00 |
| Charge: | WESLEY (HARTSVILLE) | <i>Q</i> 0.00 | <i>Q</i> 0.00 | <i>Q</i> 0.00 | \$0.00 | | 40.00 |
| Church: | Wesley UMC | \$1,735.00 | \$1,720.00 | \$1,101.00 | \$4,556.00 | 435 | \$10.47 |
| Charge: | WESLEY CHAPEL (LYDIA) | \$1,700.00 | \$1,720.00 | \$1,101.00 | \$ 1,000.000 | 100 | <i>Q</i> 10 <i>i</i> |
| Church: | Wesley Chapel UMC | \$200.00 | \$0.00 | \$755.00 | \$955.00 | 268 | \$3.56 |
| Charge: | WEST CAMDEN | | + • • • • | | | | |
| Church: | Rock Spring UMC | \$0.00 | \$36.00 | \$43.00 | \$79.00 | 61 | \$1.30 |
| | St Peter UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 34 | \$0.00 |
| Charge: | WEST DARLINGTON CT | | | | | | |
| Church: | Bethel UMC | \$0.00 | \$0.00 | \$65.00 | \$65.00 | 33 | \$1.97 |
| Church: | Wesley Memorial UMC | \$148.00 | \$0.00 | \$0.00 | \$148.00 | 70 | \$2.11 |
| Charge: | WILKES CHAPEL - BETHESDA | | ÷ • • • • • | - 3.00 | 4 - 70100 | , . | ~ = ···· |
| Church: | | \$300.00 | \$200.00 | \$0.00 | \$500.00 | 81 | \$6.17 |
| Church: | | \$90.00 | \$81.00 | \$0.00 | \$171.00 | 40 | \$4.28 |
| | ZION - ZOAR (PAGELAND) | 420.00 | <i>\$</i> 01.00 | 40.00 | <i>41</i> ,1.00 | | ÷1.20 |
| Charge: | | | | | | | |

| Page 20 of 3 | 3 | Monthly and Misc. | Annual Work Day | Mother's Day | Total Church Contributions | Total Church Members | Total Contribution per Church Member |
|--------------------|--|-------------------|--------------------|------------------|-------------------------------|----------------------------|--|
| Church: | Zoar UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 36 | \$0.00 |
| Charge: | ZOAR (CHESTERFIELD) | | | | | | |
| Church: | Zoar UMC | \$100.00 | \$360.00 | \$320.00 | \$780.00 | 185 | \$4.22 |
| | District Total | \$38,271.51 | \$22,402.78 | \$24,621.99 | \$85,296.28 | 18,911 | \$4.51 |
| District: | Marion | | | | | | |
| Charge: | ANTIOCH - POPLAR | | | | | | |
| Church: | Antioch UMC | \$0.00 | \$225.00 | \$0.00 | \$225.00 | 65 | \$3.46 |
| Church: | Poplar UMC | \$300.00 | \$7,475.00 | \$6,780.00 | \$14,555.00 | 71 | \$205.00 |
| Charge: | ASBURY - CLIO | | | | | | |
| Church: | Asbury UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 72 | \$0.00 |
| Church: | Old Clio UMC | \$0.00 | \$0.00 | \$100.00 | \$100.00 | 57 | \$1.75 |
| Charge: | AYNOR | | | | | | |
| Church: | Aynor UMC | \$135.00 | \$1,875.00 | \$2,040.00 | \$4,050.00 | 406 | \$9.98 |
| Charge: | BELIN MEMORIAL | * **** | . | | | | <i></i> |
| Church: | Belin Memorial UMC | \$980.00 | \$5,965.00 | \$3,675.15 | \$10,620.15 | 2,444 | \$4.35 |
| Charge: | BENNETTSVLLE CT | ¢0.00 | 00.02 | ¢196.00 | ¢197.00 | 05 | ¢1.0 <i>C</i> |
| Church: | Aaron Temple UMC Ebenezer UMC | \$0.00 \$0.00 | \$0.00 \$100.00 | \$186.00 | \$186.00 \$100.00 | 95 199 | \$1.96 \$0.52 |
| Church: Church: | | \$0.00 | \$100.00 | \$0.00 | \$100.00 | 188 | \$0.53 |
| | Level Green UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 65 | \$0.00 |
| Charge: Church: | BENNETTSVLLE PARISH Old Galilee UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 15 | \$0.00 |
| Church: | Shiloh UMC | \$0.00 | \$0.00 \$0.00 | \$0.00 | \$0.00 \$0.00 | 71 | \$0.00 |
| Church: | Smyrna UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 42 | \$0.00 \$0.00 |
| Charge: | BLENHEIM CT | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 72 | φ0.00 |
| Church: | Manning Chapel UMC | \$281.00 | \$140.00 | \$115.00 | \$536.00 | 71 | \$7.55 |
| Church: | Parnassus UMC | \$460.00 | \$100.00 | \$150.00 | \$710.00 | 157 | \$4.52 |
| Charge: | BROOKGREEN | | | | ÷, | | ÷ |
| Church: | Brown Chapel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 97 | \$0.00 |
| Church: | Heaven Gate UMC | \$0.00 | \$0.00 | \$100.00 | \$100.00 | 50 | \$2.00 |
| Church: | St James UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 189 | \$0.00 |
| Charge: | BROWNSWAMP NEW EL BET | THEL | | | | | |
| | Brown Swamp UMC | \$0.00 | \$0.00 | \$510.00 | \$510.00 | 238 | \$2.14 |
| Church: | New El Bethel UMC | \$0.00 | \$0.00 | \$80.00 | \$80.00 | 98 | \$0.82 |
| Charge: | CENTENARY - CENTRAL | | | | | | |
| Church: | Centenary UMC | \$30.00 | \$0.00 | \$275.00 | \$305.00 | 24 | \$12.71 |
| Church: | Central UMC | \$1,005.00 | \$540.00 | \$225.00 | \$1,770.00 | 38 | \$46.58 |
| Charge: | CENTENARY (CONWAY) | | | | | | |
| Church: | Centenary UMC | \$500.00 | \$0.00 | \$0.00 | \$500.00 | 140 | \$3.57 |
| Charge: | CENTER - NICHOLS-TRANQ | | | | | | |
| Church: | Center UMC | \$0.00 | \$0.00 | \$160.00 | \$160.00 | 61 | \$2.62 |
| Church: | Nichols UMC | \$10.00 | \$140.00 | \$204.48 | \$354.48 | 115 | \$3.08 |
| Church: | Tranquil UMC | \$20.00 | \$169.00 | \$201.00 | \$390.00 | 94 | \$4.15 |
| Charge: | CHRIST - ANTIOCH | ¢105.00 | ¢1.000.00 | #0.00 | ¢1 105 00 | 5.4 | \$ 2 0.02 |
| Church: | Antioch UMC | \$125.00 | \$1,000.00 | \$0.00 | \$1,125.00 | 54 | \$20.83 |
| Church: | Christ UMC | \$1,578.97 | \$3,041.24 | \$487.64 | \$5,107.85 | 301 | \$16.97 |
| Charge: Church: | CHRIST (CONWAY) Christ UMC | \$7,637.66 | \$0.00 | \$5,526.76 | \$13,164.42 | 1,307 | \$10.07 |
| Church: Charge: | | \$7,057.00 | \$U.UU | \$3,320.70 | φ1 3 ,104.42 | 1,307 | \$10.07 |
| Charge: Church: | DILLON PARISH Beulah UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 35 | \$0.00 |
| Church: | St Luke UMC | \$25.00 | \$0.00 \$0.00 | \$0.00 \$0.00 | \$25.00 | 55 71 | \$0.00 \$0.35 |
| Church: | St Stephen UMC | \$0.00 | \$0.00 \$0.00 | \$0.00 \$0.00 | \$23.00 | 150 | \$0.33 \$0.00 |
| Charge: | DUNCAN MEMORIAL | φ0.00 | φ0.00 | φ0.00 | \$0.00 | 150 | φ0.00 |
| Charge: | DUINCAIN IVIEIVIUKIAL | | | | | | |

| Page 21 of 3 | 3 | Monthly and Misc. | Annual Work Day | Mother's Day | Total Church Contributions | Total Church Members | Total Contribution per Church Membe |
|--------------------|--|-------------------|--------------------|-----------------------|-------------------------------|----------------------------|---|
| Church: | Duncan Memorial UMC | \$1,120.00 | \$2,086.50 | \$1,150.00 | \$4,356.50 | 701 | \$6.21 |
| Charge: Church: | FIRST (BENNETTSVILLE) First UMC | \$3,199.00 | \$75.00 | \$0.00 | \$3,274.00 | 533 | \$6.14 |
| Charge: Church: | FIRST (CONWAY) First UMC | \$2,195.00 | \$1,305.00 | \$2,577.00 | \$6,077.00 | 872 | \$6.97 |
| Charge: Church: | FIRST (LORIS) First UMC | \$317.00 | \$531.00 | \$386.00 | \$1,234.00 | 283 | \$4.36 |
| Charge: Church: | FIRST (MARION) First UMC | \$2,622.00 | \$765.00 | \$457.00 | \$3,844.00 | 596 | \$6.45 |
| Charge: | FIRST (MYRTLE BEACH) | \$2,022.00 | \$705.00 | φ 1 57.00 | \$5,044.00 | 570 | φ 0. +5 |
| Church: | First UMC | \$13,110.00 | \$3,006.00 | \$6,210.00 | \$22,326.00 | 1,848 | \$12.08 |
| Charge: Church: | FLOYDS Floyds UMC | \$10.00 | \$0.00 | \$0.00 | \$10.00 | 51 | \$0.20 |
| Charge: | HERBERT MEMORIAL | | | | | | |
| Church: | Herbert Memorial UMC | \$445.00 | \$560.00 | \$619.00 | \$1,624.00 | 280 | \$5.80 |
| Charge: Church: | JOSEPH B BETHEA - SALEM Joseph B Bethea UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 70 | \$0.00 |
| Church: | Salem UMC | \$125.00 | \$0.00 \$0.00 | \$0.00 \$0.00 | \$125.00 | 70 170 | \$0.00 \$0.74 |
| Charge: | LAKE VIEW CHARGE | \$125.00 | \$0.00 | \$0.00 | \$123.00 | 170 | \$0.74 |
| Church: | Hopewell UMC | \$20.00 | \$195.00 | \$265.00 | \$480.00 | 43 | \$11.16 |
| Church: | Lake View UMC | \$900.00 | \$0.00 | \$0.00 | \$900.00 | 85 | \$10.59 |
| Church: | Union UMC | \$780.00 | \$0.00 | \$115.00 | \$895.00 | 29 | \$30.86 |
| Charge: | LATTA - MT ANDREW | | | | | | |
| Church: | Latta UMC | \$2,175.00 | \$1,134.81 | \$50.00 | \$3,359.81 | 243 | \$13.83 |
| Church: | Mt Andrew UMC | \$765.00 | \$275.00 | \$144.00 | \$1,184.00 | 47 | \$25.19 |
| Charge: | LATTA CHARGE | | | | | | |
| Church: | Andrews Chapel UMC | \$5.00 | \$0.00 | \$0.00 | \$5.00 | 25 | \$0.20 |
| Church: | St Phillip UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 110 | \$0.00 |
| Charge: Church: | LITTLE RIVER Little River UMC | \$3,280.00 | \$955.00 | \$1,323.00 | \$5,558.00 | 575 | \$9.67 |
| | LITTLE ROCK PAR | \$5,280.00 | \$755.00 | \$1,525.00 | \$5,558.00 | 515 | \$7.07 |
| Church: | Bowling Green UMC | \$0.00 | \$0.00 | \$125.00 | \$125.00 | 158 | \$0.79 |
| Church: | McCoy Chapel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 240 | \$0.00 |
| Church: | New Holly UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 168 | \$0.00 |
| Charge: | LORIS CHARGE | | | | | | |
| Church: | Camp Swamp UMC | \$0.00 | \$400.00 | \$0.00 | \$400.00 | 82 | \$4.88 |
| Church: | Ebenezer UMC | \$20.00 | \$0.00 | \$0.00 | \$20.00 | 45 | \$0.44 |
| Church: | Wampee UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 45 | \$0.00 |
| Charge: | MACEDONIA - PLEASANT HILI | | <i></i> | * 1 ••• | *** • • • • • • | | ** * • • • |
| Church: | Macedonia UMC | \$8,785.00 | \$1,495.00 | \$1,035.00 | \$11,315.00 | 323 | \$35.03 |
| Church: | Pleasant Hill UMC | \$150.00 | \$0.00 | \$0.00 | \$150.00 | 60 | \$2.50 |
| Charge: Church: | MAIN ST - PINE GROVE Main Street UMC | \$100.00 | \$345.00 | \$295.00 | \$740.00 | 196 | \$3.78 |
| Church: | Pine Grove UMC | \$25.00 | \$2,135.00 | \$700.00 | \$2,860.00 | 38 | \$75.26 |
| Charge: Church: | MAIN STREET (DILLON) Main Street UMC | \$1,940.00 | \$1,265.00 | \$1,777.00 | \$4,982.00 | 418 | \$11.92 |
| Charge: | MARION PARISH | +-,> | ÷-,=00.00 | | ÷.,> 0 2 .00 | 110 | Ψ-1./ - |
| Church: | Bethel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 58 | \$0.00 |
| Church: | Pleasant Grove UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 22 | \$0.00 |
| Church: | Springville UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 61 | \$0.00 |
| Charge: | MARLBORO CHARGE | | | | | | |
| Church: | Bethel UMC | \$75.00 | \$300.00 | \$0.00 | \$375.00 | 21 | \$17.86 |
| Church: | Boykin UMC | \$600.00 | \$300.00 | \$0.00 | \$900.00 | 79 | \$11.39 |

| Page 22 of 3 | 3 | Monthly and Misc. | Annual Work Day | Mother's Day | Total Church Contributions | Total Church Members | Total Contribution per Church Member |
|--------------|--------------------------|-------------------|--------------------|-----------------|-------------------------------|----------------------------|--|
| Church: | Ebenezer UMC | \$100.00 | \$0.00 | \$705.00 | \$805.00 | 154 | \$5.23 |
| Charge: | MARLBORO CIRCUIT | | | | | | |
| Church: | New Hope UMC | \$210.00 | \$0.00 | \$265.00 | \$475.00 | 45 | \$10.56 |
| Church: | Oak Grove UMC | \$628.00 | \$0.00 | \$586.02 | \$1,214.02 | 88 | \$13.80 |
| Church: | Pleasant Hill UMC | \$949.00 | \$432.00 | \$251.00 | \$1,632.00 | 74 | \$22.05 |
| Charge: | MULLINS CHARGE | | | | - | | |
| Church: | | \$50.00 | \$0.00 | \$0.00 | \$50.00 | 91 | \$0.55 |
| Charge: | MULLINS CHG | | | | | | |
| Church: | Beulah UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 102 | \$0.00 |
| Charge: | OAK GROVE/SAMPIT | | | | | | |
| Church: | Oak Grove UMC | \$85.00 | \$70.00 | \$120.00 | \$275.00 | 34 | \$8.09 |
| Church: | Sampit UMC | \$0.00 | \$0.00 | \$126.00 | \$126.00 | 67 | \$1.88 |
| Charge: | OAKLAND | | | | | | |
| Church: | Oakland UMC | \$150.00 | \$395.00 | \$0.00 | \$545.00 | 155 | \$3.52 |
| Charge: | PISGAH | | | | | | |
| Church: | Pisgah UMC | \$1,428.93 | \$0.00 | \$494.00 | \$1,922.93 | 203 | \$9.47 |
| Charge: | REHOBOTH - ZOAN | | | | | | |
| Church: | Rehoboth UMC | \$300.00 | \$1,500.00 | \$0.00 | \$1,800.00 | 105 | \$17.14 |
| Church: | Zoan UMC | \$0.00 | \$0.00 | \$200.00 | \$200.00 | 71 | \$2.82 |
| Charge: | SHILOH - SMYRNA | | | | | | |
| Church: | Shiloh UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 44 | \$0.00 |
| Church: | Smyrna UMC | \$1,700.00 | \$0.00 | \$0.00 | \$1,700.00 | 120 | \$14.17 |
| Charge: | SHILOH (MARION) | | | | | | |
| Church: | Shiloh UMC | \$0.00 | \$140.00 | \$403.00 | \$543.00 | 196 | \$2.77 |
| Charge: | SOCASTEE | | | | | | |
| Church: | Socastee UMC | \$987.00 | \$100.00 | \$578.00 | \$1,665.00 | 615 | \$2.71 |
| Charge: | ST MICHAEL (BENNETTSVILL | E) | | | | | |
| Church: | St Michael UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 49 | \$0.00 |
| Charge: | ST PAUL'S WACCAMAW | | | | | | |
| Church: | St Pauls Waccamaw UMC | \$1,460.00 | \$2,220.00 | \$1,302.00 | \$4,982.00 | 729 | \$6.83 |
| Charge: | SURFSIDE BEACH | | | | | | |
| Church: | Surfside UMC | \$2,445.00 | \$3,687.00 | \$2,954.00 | \$9,086.00 | 1,008 | \$9.01 |
| Charge: | TATUM PARISH | | | | | | |
| Church: | Ebenezer UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 62 | \$0.00 |
| Church: | Hebron UMC | \$450.00 | \$0.00 | \$0.00 | \$450.00 | 59 | \$7.63 |
| Charge: | TRINITY (ANDREWS) | | | | | | |
| Church: | Trinity UMC | \$4,600.44 | \$163.00 | \$469.00 | \$5,232.44 | 485 | \$10.79 |
| Charge: | TRINITY (BENNETTSVILLE) | | | | | | |
| Church: | Trinity UMC | \$0.00 | \$461.00 | \$0.00 | \$461.00 | 312 | \$1.48 |
| Charge: | TRINITY (CLIO) | | | | | | |
| Church: | Berea UMC | \$0.00 | \$176.00 | \$180.00 | \$356.00 | 63 | \$5.65 |
| Church: | Trinity UMC | \$970.00 | \$616.00 | \$555.00 | \$2,141.00 | 152 | \$14.09 |
| Charge: | TRINITY (CONWAY) | | | | | | |
| Church: | Trinity UMC | \$3,539.39 | \$2,900.00 | \$2,512.00 | \$8,951.39 | 693 | \$12.92 |
| Charge: | TRINTY (N MYRTLE BEACH) | | | | | | |
| Church: | Trinity UMC | \$1,345.00 | \$1,374.00 | \$0.00 | \$2,719.00 | 525 | \$5.18 |
| Charge: | UNION (CONWAY) | | | | | | |
| Church: | Union UMC | \$500.00 | \$0.00 | \$0.00 | \$500.00 | 298 | \$1.68 |
| Charge: | WAYNE - BETHEL | | | | | | |
| Church: | Bethel UMC | \$810.00 | \$700.00 | \$0.00 | \$1,510.00 | 75 | \$20.13 |
| Church: | Wayne UMC | \$20.00 | \$355.00 | \$585.00 | \$960.00 | 328 | \$2.93 |
| | District Total | \$78,578.39 | \$53,187.55 | \$50,329.05 | \$182,094.99 | 22,458 | \$8.11 |
| District: | Orangeburg | | | | | | |

| age 23 of 3 | 3 | Monthly and Misc. | Annual Work Day | Mother's Day | Total Church Contributions | Total Church Members | Total Contribution per Church Membe |
|-------------|------------------------|---------------------|--------------------|-----------------|-------------------------------|----------------------------|---|
| Charge: | BAMBERG CT | | | | | | |
| Church: | Bethel UMC | \$0.00 | \$0.00 | \$219.00 | \$219.00 | 47 | \$4.66 |
| Church: | Mt Zion UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 140 | \$0.00 |
| Charge: | BARNWELL CHARGE | | | | | | |
| Church: | Barnwell UMC | \$100.00 | \$465.00 | \$265.00 | \$830.00 | 492 | \$1.69 |
| Church: | Siloam UMC | \$135.00 | \$0.00 | \$166.00 | \$301.00 | 51 | \$5.90 |
| Charge: | BETHEL PARK | | | | | | |
| Church: | Bethel Park UMC | \$159.25 | \$1,082.36 | \$536.50 | \$1,778.11 | 171 | \$10.40 |
| Charge: | BEULAH (SANDY RUN) | | | | | | |
| Church: | Beulah UMC | \$100.00 | \$280.00 | \$441.00 | \$821.00 | 243 | \$3.38 |
| Charge: | BOWMAN CHARGE | | ** ** | | **** | | |
| Church: | | \$733.00 | \$0.00 | \$158.00 | \$891.00 | 81 | \$11.00 |
| Church: | White House UMC | \$650.00 | \$0.00 | \$0.00 | \$650.00 | 122 | \$5.33 |
| Church: | Wightman UMC | \$0.00 | \$0.00 | \$100.00 | \$100.00 | 93 | \$1.08 |
| Charge: | BRANCHVILLE - PLEASAN | | | | | | |
| Church: | Branchville UMC | \$0.00 | \$526.00 | \$230.00 | \$756.00 | 120 | \$6.30 |
| Church: | Pleasant Hill UMC | \$280.00 | \$97.00 | \$135.00 | \$512.00 | 73 | \$7.01 |
| Charge: | CALHOUN CHARGE | | | | | | |
| Church: | Andrew Chapel UMC | \$1,435.00 | \$572.00 | \$535.00 | \$2,542.00 | 155 | \$16.40 |
| Church: | Wesley Chapel UMC | \$115.00 | \$0.00 | \$293.00 | \$408.00 | 103 | \$3.96 |
| Charge: | CALVARY - OAKGROVE (SV | | | | | | |
| Church: | | \$120.00 | \$603.00 | \$395.00 | \$1,118.00 | 203 | \$5.51 |
| Church: | Oak Grove UMC | \$400.00 | \$0.00 | \$0.00 | \$400.00 | 41 | \$9.76 |
| Charge: | CAMERON | | | | | | |
| Church: | Cameron UMC | \$825.00 | \$200.00 | \$0.00 | \$1,025.00 | 15 | \$68.33 |
| Church: | Jericho UMC | \$65.00 | \$1,000.00 | \$927.00 | \$1,992.00 | 102 | \$19.53 |
| Church: | Shady Grove UMC | \$550.00 | \$5,264.00 | \$3,000.00 | \$8,814.00 | 67 | \$131.55 |
| Charge: | CANAAN (COPE) | | | | | | |
| Church: | Canaan UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 259 | \$0.00 |
| Charge: | CHARLES WESLEY | | | | | | |
| Church: | 5 | \$795.00 | \$170.80 | \$312.15 | \$1,277.95 | 46 | \$27.78 |
| Charge: | CLAFLIN | | | | | | |
| Church: | Claflin UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 35 | \$0.00 |
| Charge: | CLINTON (SALLEY) | | | | | | |
| Church: | Clinton UMC | \$1,695.00 | \$1,161.00 | \$920.00 | \$3,776.00 | 168 | \$22.48 |
| Charge: | EDISTO CHG | ** * • • • • | * ••••• | \$ 0.00 | ** | | * 2 1- |
| Church: | St Johns UMC | \$250.00 | \$0.00 | \$0.00 | \$250.00 | 72 | \$3.47 |
| Church: | Union UMC | \$310.00 | \$1,835.00 | \$1,500.00 | \$3,645.00 | 86 | \$42.38 |
| Church: | Wesley Grove UMC | \$1,080.00 | \$635.00 | \$725.00 | \$2,440.00 | 94 | \$25.96 |
| Charge: | EDISTO FORK | | | | | | |
| Church: | Edisto Fork UMC | \$375.00 | \$0.00 | \$0.00 | \$375.00 | 1,616 | \$0.23 |
| Charge: | ELLOREE | * 40.00 | * 1 100 00 | \$ 0.00 | | 10- | * < * • |
| Church: | Elloree UMC | \$40.00 | \$1,180.00 | \$0.00 | \$1,220.00 | 185 | \$6.59 |
| Church: | Jerusalem UMC | \$505.00 | \$0.00 | \$645.00 | \$1,150.00 | 267 | \$4.31 |
| Charge: | EUTAWVILLE | ¢100.00 | \$0.00 | ¢122.00 | *222 00 | 101 | \$1.5 0 |
| Church: | Eutawville UMC | \$100.00 | \$0.00 | \$133.00 | \$233.00 | 131 | \$1.78 |
| Charge: | FRANKLIN - ORANGE GRO | | \$0.00 | #0.00 | #0.00 | 101 | #0.00 |
| Church: | Franklin UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 181 | \$0.00 |
| Church: | Orange Grove UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 106 | \$0.00 |
| Charge: | HOLLY HILL | Φ1 1 05 00 | ¢1 005 00 | ¢1.075.00 | #2 015 00 | 205 | #0.02 |
| | Holly Hill UMC | \$1,125.00 | \$1,025.00 | \$1,065.00 | \$3,215.00 | 327 | \$9.83 |
| Charge: | JACKSON | \$70 < 00 | # 500.00 | ¢1.070.00 | #0.051 00 | 170 | ф14 <i>51</i> |
| Church: | Bethel UMC | \$726.00 | \$580.00 | \$1,068.00 | \$2,374.00 | 163 | \$14.56 |

| Page 24 of 3 | 3 | Monthly and Misc. | Annual Work Day | Mother's Day | Total Church Contributions | Total Church Members | Total Contribution per Church Member |
|--------------------|---|-------------------|--------------------|-----------------|-------------------------------|----------------------------|--|
| Church: | Wesley Chapel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 101 | \$0.00 |
| Charge: | LIVINGSTON - PINE HILL | | | | | | |
| Church: | Livingston UMC | \$1,285.00 | \$867.00 | \$820.00 | \$2,972.00 | 193 | \$15.40 |
| Church: | Pine Hill UMC | \$592.00 | \$0.00 | \$450.00 | \$1,042.00 | 96 | \$10.85 |
| Charge: | MAIN ST | | | | | | |
| Church: | Main Street UMC | \$640.00 | \$0.00 | \$0.00 | \$640.00 | 69 | \$9.28 |
| Charge: Church: | MT CARMEL (BAMBERG) Mt Carmel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 274 | \$0.00 |
| Charge: Church: | NEW BEGINNING (NORWAY) New Beginnings UMC | \$0.00 | \$340.00 | \$0.00 | \$340.00 | 240 | \$1.42 |
| Charge: | NEW COVENANT | | | | | | |
| Church: | New Covenant UMC | \$0.00 | \$0.00 | \$206.00 | \$206.00 | 513 | \$0.40 |
| Charge: | NEW LIGHT (ORANGEBURG) | | | | | | |
| Church: | New Light UMC | \$50.00 | \$0.00 | \$320.00 | \$370.00 | 381 | \$0.97 |
| Charge: | NORTH - LIMESTONE | | | | | | |
| Church: | Limestone UMC | \$220.00 | \$470.00 | \$280.00 | \$970.00 | 50 | \$19.40 |
| Church: | North UMC | \$909.00 | \$35.00 | \$253.50 | \$1,197.50 | 198 | \$6.05 |
| Charge: | NORTH ORANGEBURG | | | | | | |
| Church: | North Orangeburg UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 878 | \$0.00 |
| Charge: | NORWAY | ¢200.00 | ¢412.00 | ¢0.00 | \$712.00 | 1.42 | ¢4.00 |
| Church: | Lebanon UMC | \$300.00 | \$412.00 | \$0.00 | \$712.00 | 143 | \$4.98 |
| Church: | St John UMC | \$0.00 | \$640.00 | \$0.00 | \$640.00 | 116 | \$5.52 |
| Charge: Church: | OLAR Kearse UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 17 | \$0.00 |
| Church: | Mizpah UMC | \$25.00 | \$0.00 | \$50.00 | \$75.00 | 17 | \$6.25 |
| Church: | Salem UMC | \$0.00 | \$0.00 \$0.00 | | \$120.00 | 37 | |
| | ORANGE CT | \$0.00 | \$0.00 | \$120.00 | \$120.00 | 57 | \$3.24 |
| Charge: Church: | Ebenezer UMC | \$75.00 | \$196.00 | \$252.00 | \$523.00 | 160 | \$3.27 |
| Church: | St Johns UMC | \$50.00 | \$0.00 | \$270.00 | \$320.00 | 32 | \$10.00 |
| Church: | Trinity UMC | \$1,125.00 | \$33.00 | \$0.00 | \$1,158.00 | 52 44 | \$26.32 |
| Charge: | ORANGEBURG CT | \$1,125.00 | ψυυ.ου | \$0.00 | ψ1,150.00 | | \$20.52 |
| Church: | Bethlehem UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 136 | \$0.00 |
| Church: | Mt Nebo UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 74 | \$0.00 |
| Church: | St John UMC | \$5.00 | \$700.00 | \$0.00 | \$705.00 | 86 | \$8.20 |
| Charge: | ORANGEBURG PAR | 45.00 | \$700.00 | \$0.00 | \$705.00 | 00 | \$0. 2 0 |
| Church: | Cedar Grove UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 121 | \$0.00 |
| Church: | Forest Chapel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 80 | \$0.00 |
| Charge: | ORANGEBURG PARISH | | | | | | |
| Church: | St Stephen UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 252 | \$0.00 |
| Charge: | PELION | | | | | | |
| Church: | Bethel UMC | \$302.00 | \$0.00 | \$370.00 | \$672.00 | 142 | \$4.73 |
| Church: | Pelion UMC | \$0.00 | \$189.00 | \$90.00 | \$279.00 | 301 | \$0.93 |
| Church: | Sharon UMC | \$325.00 | \$680.00 | \$0.00 | \$1,005.00 | 138 | \$7.28 |
| Charge: | PINEVILLE - ST STEPHEN | | | | | | |
| Church: | Pineville UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 208 | \$0.00 |
| Church: | St Stephen UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 191 | \$0.00 |
| Charge: | PROVIDENCE | | | | | | |
| Church: | Providence UMC | \$950.00 | \$432.00 | \$257.00 | \$1,639.00 | 256 | \$6.40 |
| Charge: | ROWESVILLE CHARGE | #220 00 | #0.00 | #0.00 | #32 0.00 | | ф с п 1 |
| Church: | Bethel UMC | \$320.00 | \$0.00 | \$0.00 | \$320.00 | 56 | \$5.71 |
| Church: | Cattle Creek UMC | \$220.00 | \$0.00 | \$198.00 | \$418.00 | 52 | \$8.04 |
| Church: | New Hope UMC | \$245.00 | \$0.00 | \$75.00 | \$320.00 | 56 | \$5.71 |
| Charge: | ROWESVILLE PARISH | | | | | | |

| Church: Central UMC \$300.00 \$200.00 \$60.00 \$560.00 61 Church: Mayes Chapel UMC \$20.00 \$0.00 \$0.00 \$50.00 \$150 Church: Prospect UMC \$20.00 \$0.00 \$0.00 \$20.00 \$150 Charge: SILAS (EUTAWVILLE) Church: Silas UMC \$0.00 \$100.00 \$2.86.00 \$313.00 \$509.00 \$2 Church: Salley UMC \$0.00 \$0.00 \$0.00 \$0.00 \$2.544.00 64 Church: Salt ADREWS \$333.00 \$33,393.00 \$333.00 \$33,393.00 \$335 Charge: ST ANDREWS \$2.592.24 \$8,250.05 \$16,989.44 1,656 Charge: ST MARK (NORTH) \$2.592.24 \$8,250.05 \$16,989.44 1,656 Charge: ST MARK (NORTH) \$100.00 \$0.00 \$14.50 \$64 Charge: | \$0.00 \$0.13 \$0.63 \$24.10 \$0.00 \$39.13 \$6.34 \$10.26 \$0.26 \$0.26 \$25.00 \$3.39 |
|--|--|
| Church: Prospect UMC \$20.00 \$0.00 \$0.00 \$20.00 \$150 Charge: SHAS (EUTAWVILLE) \$0.00 \$100.00 \$0.00 \$0.00 \$100.00 \$150 Charge: SPRINGFIELD CHG \$0.00 \$20.00 \$0.00 \$0.00 \$0.00 \$0.00 \$699.00 \$25 Church: Salley UMC \$100.00 \$226.00 \$0.00 \$0.00 \$699.00 \$25 Church: Salley UMC \$1975.00 \$529.00 \$0.00 \$20.00 \$640.00 Church: St Andrews UMC \$865.00 \$2,503.00 \$25.00 \$3,393.00 \$535 Charge: ST JOHNS (AIKEN) \$2,592.24 \$8,250.05 \$16,989.44 \$665 Charge: ST MARK (NORTH) \$2,592.24 \$8,250.05 \$16,989.44 \$665 Charge: ST MATHEWS CHG \$100.00 \$0.00 \$145.00 \$64 Charge: ST MATHEWS CHG \$100.00 \$150.00 \$220.00 \$3350.00 \$14 Charge: ST ANTHEWS CHG \$0.00 \$150.00< | \$0.13 \$0.63 \$24.10 \$0.00 \$39.13 \$6.34 \$10.26 \$0.26 \$0.26 \$25.00 \$3.39 |
| Charge: SILAS (EUTAWVILLE) S100.00 S2,503.00 S2,503.00 S2,503.00 S2,503.00 S3,303.00 S3,303.00 S3,030.00 S100.00 S10.00 S10. | \$ \$0.63 \$ \$24.10 \$ \$0.00 \$ \$39.13 \$ \$6.34 \$ \$10.26 \$ \$0.26 \$ \$0.26 \$ \$25.00 \$ \$3.39 |
| Church: Silas UMC S0.00 S100.00 S0.00 S100.00 S100.00 Church: SPRINGFIELD CHG U Church: Salley UMC S100.00 S286.00 S313.00 S699.00 255 Church: Springfield UMC \$100.00 \$20.00 \$0.00 <th< td=""><td> \$24.10 \$0.00 \$39.13 \$6.34 \$10.26 \$0.26 \$25.00 \$3.39 </td></th<> | \$24.10 \$0.00 \$39.13 \$6.34 \$10.26 \$0.26 \$25.00 \$3.39 |
| Charge: SPRINGFIELD CHG Sesses UMC \$\$100.00 \$\$286.00 \$\$313.00 \$\$699.00 \$25 Church: Salley UMC \$\$0.00 \$\$529.00 \$\$0.00 \$\$0.00 \$\$147 Church: Stalley UMC \$\$1975.00 \$\$529.00 \$\$0.00 \$\$2,504.00 \$\$44 Church: St Andrews UMC \$\$865.00 \$\$2,503.00 \$\$25.00 \$\$3,393.00 \$\$35 Charge: ST JOHS (AIKEN) | \$24.10 \$0.00 \$39.13 \$6.34 \$10.26 \$0.26 \$25.00 \$3.39 |
| Church: Neeses UMC \$100.00 \$286.00 \$313.00 \$699.00 25 Church: Salley UMC \$0.00 \$16.989.44 1.656 Church: St Johns UMC \$6.147.15 \$2,592.24 \$8,250.05 \$16,989.44 1.656 Church: St Johns UMC \$60.00 \$100.00 \$0.00 \$145.00 \$64 Church: St MARTHEWS CHG \$0.00 \$150.00 \$0.00 \$393.70 166 Church: Mark UMC \$0.00 \$130.00 \$21.15.00 \$0.30.0 \$1453.50 313 Ch | \$0.00 \$39.13 \$6.34 \$10.26 \$0.26 \$25.00 \$3.39 |
| Church: Salley UMC S0.00 S145.00 S0.00 S145.00 S0.00 S145.00 S0.00 S145.00 S12.00 S10.00 | \$0.00 \$39.13 \$6.34 \$10.26 \$0.26 \$25.00 \$3.39 |
| Church: Springfield UMC \$1,975.00 \$529.00 \$0.00 \$2,504.00 64 Church: St Andrews UMC \$865.00 \$2,503.00 \$225.00 \$3,393.00 535 Church: St Andrews UMC \$865.00 \$2,593.00 \$25.00 \$3,393.00 535 Church: St Johns (AIKEN) Church: St Johns (MKEN) \$2,592.24 \$8,250.05 \$16,989.44 1,656 Church: St MARK (NORTH) Church: St MATTHEWS CHG \$2,090.0 \$100.00 \$0.00 \$350.00 \$145.00 \$64 Church: East Bethel UMC \$0.00 \$100.00 \$200.00 \$3530.00 \$145.00 \$64 Church: St PAUL (NCW ELLENTON) S0.00 \$330.00 \$275.00 \$363.00 \$13 Church: St Paul UMC \$771.00 \$0.00 \$1,15.00 \$1,886.00 \$238 Church: St | \$39.13 \$6.34 \$10.26 \$0.26 \$25.00 \$3.39 |
| Charge: ST ANDREWS Church: St Andrews UMC \$865.00 \$2,503.00 \$25.00 \$3,393.00 \$355 Charge: ST JOINS (AIKEN) 535 Charge: ST JOINS (AIKEN) 545,00 \$16,989.44 1,656 Charge: ST MARK (NORTH) 564 Church: St Mark UMC \$45.00 \$100.00 \$0.00 \$3145.00 564 Church: East Bethel UMC \$0.00 \$150.00 \$200.00 \$339.70 146 Church: East Bethel UMC \$0.00 \$333.00 \$275.00 \$630.00 144 Church: St PAUL (NEW ELLENTON) \$100.00 \$275.00 \$630.00 134 Church: St Paul UMC \$150.00 \$1,246.00 \$57.50 \$1,453.50 313 Charge: ST PAUL (ST MATTHEWS) \$100.00 \$1,631.00 \$1,81.00 \$38,112.00 \$27 <td>\$6.34 \$10.26 \$0.26 \$25.00 \$3.39</td> | \$6.34 \$10.26 \$0.26 \$25.00 \$3.39 |
| Church: St Andrews UMC \$865.00 \$2,503.00 \$25.00 \$3,393.00 \$535 Church: St JOHNS (AIKEN) | \$10.26 \$0.26 \$25.00 \$3.39 |
| Charge: ST JOHNS (AIKEN) Church: St Johns UMC \$6,147.15 \$2,592.24 \$8,250.05 \$16,989.44 1,656 Charge: ST MARK (NORTH) 54 56 <td>\$10.26 \$0.26 \$25.00 \$3.39</td> | \$10.26 \$0.26 \$25.00 \$3.39 |
| Church: St Johns UMC \$6,147.15 \$2,592.24 \$8,250.05 \$16,989.44 1,656 Charge: ST MARK (NORTH) | \$0.26 \$25.00 \$3.39 |
| Charge: ST MARK (NORTH) Church: St Mark UMC \$45.00 \$100.00 \$0.00 \$145.00 \$64 Charge: ST MATTHEWS CHG | \$0.26 \$25.00 \$3.39 |
| Church: St Mark UMC \$45.00 \$100.00 \$0.00 \$145.00 \$64 Charge: ST MATTHEWS CHG | \$25.00 \$3.39 |
| Church: East Bethel UMC \$0.00 \$150.00 \$200.00 \$350.00 14 Church: Mt Zion UMC \$0.00 \$393.70 \$0.00 \$393.70 116 Church: West Bethel UMC \$25.00 \$330.00 \$275.00 \$630.00 134 Church: West Bethel UMC \$25.00 \$330.00 \$275.00 \$630.00 134 Church: St PAUL (NEW ELLENTON) \$771.00 \$0.00 \$1,115.00 \$1,886.00 238 Charge: ST PAUL (ST MATTHEWS) \$771.00 \$0.00 \$1,115.00 \$1,886.00 238 Church: St Paul UMC \$150.00 \$1,246.00 \$57.50 \$1,453.50 313 Charge: ST PAUL'S (ORANGEBURG) \$1631.00 \$1,811.00 \$38,112.00 \$27 Church: St Pauls UMC \$125.00 \$125.00 \$0.00 \$250.00 \$0 Church: Gerizim UMC \$199.00 \$0.00 \$178.00 \$377.00 \$6 \$02.50 \$02 Charee: | \$3.39 |
| Church: Mt Zion UMC \$0.00 \$393.70 \$0.00 \$393.70 \$166 Church: West Bethel UMC \$25.00 \$330.00 \$275.00 \$630.00 134 Charge: ST PAUL (NEW ELLENTON) \$1700 \$0.00 \$1,115.00 \$630.00 134 Church: St Paul UMC \$771.00 \$0.00 \$1,115.00 \$1,886.00 238 Church: St Paul UMC \$150.00 \$1,246.00 \$57.50 \$1,453.50 313 Church: St Paul UMC \$34,670.00 \$1,631.00 \$1,811.00 \$38,112.00 \$27.70 Church: St Pauls UMC \$34,670.00 \$1,631.00 \$1,811.00 \$38,112.00 \$27.70 Church: Gerizim UMC \$125.00 \$10.00 \$1,780.00 \$377.00 \$50.00 Church: Target UMC \$199.00 \$0.00 \$178.00 \$377.00 \$50.20 Church: Target UMC \$199.00 \$0.00 \$178.00 \$377.00 \$50.602.50 \$502 Church: Trinity UMC \$660.00 \$1,245.00 \$0.00 \$1,905.00 \$2 | \$3.39 |
| Church: West Bethel UMC \$25.00 \$330.00 \$275.00 \$630.00 134 Charge: ST PAUL (NEW ELLENTON) St Paul UMC \$771.00 \$0.00 \$1,115.00 \$1,886.00 238 Charge: ST PAUL (ST MATTHEWS) St Paul UMC \$150.00 \$1,246.00 \$57.50 \$1,453.50 313 Charge: ST PAUL'S (ORANGEBURG) St Paul UMC \$150.00 \$1,246.00 \$57.50 \$1,453.50 313 Charge: ST PAUL'S (ORANGEBURG) St Paul UMC \$150.00 \$1,246.00 \$57.50 \$1,453.50 313 Charge: ST PAUL'S (ORANGEBURG) St Pauls UMC \$34,670.00 \$1,631.00 \$1,811.00 \$38,112.00 \$527 Charge: TARGET - GERIZIM CHARGE St Pauls UMC \$125.00 \$0.00 \$377.00 \$250.00 \$50 Church: Target UMC \$199.00 \$0.00 \$178.00 \$377.00 \$50 Church: Trinity UMC \$1,705.00 \$2,020.50 \$2,877.00 \$6,602.50 \$50 Church: Trinity UMC \$660.00 \$1,245.00 \$0.00 \$1,905.00 | |
| Charge: ST PAUL (NEW ELLENTON) ST PAUL (NEW ELLENTON) St Paul UMC \$771.00 \$0.00 \$1,115.00 \$1,886.00 238 Charge: ST PAUL (ST MATTHEWS) St Paul UMC \$150.00 \$1,246.00 \$57.50 \$1,453.50 313 Charge: ST PAUL'S (ORANGEBURG) St Paul UMC \$34,670.00 \$1,631.00 \$1,811.00 \$38,112.00 \$27 Charge: ST PAUL'S (ORANGEBURG) St Pauls UMC \$34,670.00 \$1,631.00 \$1,811.00 \$38,112.00 \$27 Charge: TARGET - GERIZIM CHARGE TARGET - GERIZIM CHARGE TARGET - GERIZIM CHARGE \$33,12.00 \$35,12.00 \$250.00 \$50 Church: Gerizim UMC \$125.00 \$1,030.00 \$1,811.00 \$38,112.00 \$250.00 \$0.00 Church: Target UMC \$199.00 \$0.00 \$1,050.00 \$250.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00< | \$4.70 |
| Church: St Paul UMC \$771.00 \$0.00 \$1,115.00 \$1,886.00 238 Charge: ST PAUL (ST MATTHEWS) 238 Church: St Paul UMC \$150.00 \$1,246.00 \$57.50 \$1,453.50 313 Church: St Paul UMC \$334,670.00 \$1,631.00 \$1,811.00 \$38,112.00 \$27 Church: St Pauls UMC \$34,670.00 \$1,631.00 \$1,811.00 \$38,112.00 \$27 Charge: TARGET - GERIZIM CHARGE \$38,112.00 \$27 Charge: TARGET - GERIZIM CHARGE \$334,670.00 \$1,631.00 \$1,811.00 \$338,112.00 \$27 Charge: TARGET - GERIZIM CHARGE \$1,050.00 \$10.00 \$377.00 \$250.00 \$0.00 \$0.00 \$377.00 \$1,050.00 \$0.20 \$0.20 \$0.20 \$0.20 \$0.20 \$0.20 \$0.20 \$0.20 \$0.20 | |
| Church: St Paul UMC \$150.00 \$1,246.00 \$57.50 \$1,453.50 313 Charge: ST PAUL'S (ORANGEBURG) 527 Church: St Pauls UMC \$34,670.00 \$1,631.00 \$1,811.00 \$38,112.00 527 Charge: TARGET - GERIZIM CHARGE 7 7 7 7 Church: Gerizim UMC \$125.00 \$125.00 \$0.00 \$250.00 50 Church: Target UMC \$125.00 \$0.00 \$178.00 \$377.00 154 Church: Target UMC \$199.00 \$0.00 \$178.00 \$377.00 154 Charge: TRINITY (AIKEN) 52020.50 \$2,877.00 \$6,602.50 502 Charge: TRINITY (BAMBERG) 50.00 \$1,245.00 \$0.00 \$1,905.00 296 Charge: TRINITY (ORANGEBURG) 50.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 </td <td>\$7.92</td> | \$7.92 |
| Charge: ST PAUL'S (ORANGEBURG) Church: St Pauls UMC \$\$34,670.00 \$1,631.00 \$1,811.00 \$38,112.00 \$27 Charge: TARGET - GERIZIM CHARGE \$38,112.00 \$27 Charge: TARGET - GERIZIM CHARGE \$38,112.00 \$27 Charge: TARGET - GERIZIM CHARGE \$38,112.00 \$27 Charge: TARGET - GERIZIM CHARGE \$3000 \$1,811.00 \$38,112.00 \$27 Church: Gerizim UMC \$125.00 \$125.00 \$0.00 \$0.00 \$250.00 \$0.00 Church: Target UMC \$199.00 \$0.00 \$178.00 \$3377.00 \$154 Church: Trinity UMC \$1,705.00 \$2,020.50 \$2,877.00 \$6,602.50 \$02 Charge: TRINITY (BAMBERG) Church: Trinity UMC \$6660.00 \$1,245.00 \$0.00 \$0 | |
| Church: St Pauls UMC \$34,670.00 \$1,631.00 \$1,811.00 \$38,112.00 \$27 Charge: TARGET - GERIZIM CHARGE 527 Church: Gerizim UMC \$125.00 \$0.00 \$250.00 50 Church: Target UMC \$199.00 \$0.00 \$178.00 \$377.00 154 Charge: TRINITY (AIKEN) 52,020.50 \$2,877.00 \$6,602.50 502 Charge: TRINITY (BAMBERG) 52 Church: Trinity UMC \$660.00 \$1,245.00 \$0.00 \$1,905.00 296 Charge: TRINITY (ORANGEBURG) 597 Charge: Trinity UMC \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 597 Charge: WAGENER - SWANSEA 597 Church: Swansea UMC \$563.00 \$750.00 \$711.00 \$2,024.00 190 | \$4.64 |
| Church: Gerizim UMC \$125.00 \$0.00 \$250.00 50 Church: Target UMC \$199.00 \$0.00 \$178.00 \$377.00 154 Charge: TRINITY (AIKEN) 502 Church: Trinity UMC \$1,705.00 \$2,020.50 \$2,877.00 \$6,602.50 502 Charge: TRINITY (BAMBERG) 502 Church: Trinity UMC \$660.00 \$1,245.00 \$0.00 \$1,905.00 296 Charge: TRINITY (ORANGEBURG) 597 Church: Trinity UMC \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 597 Church: Trinity UMC \$0.00 \$0.00 \$0.00 \$0.00 \$97 Church: Swansea UMC \$563.00 \$750.00 \$711.00 \$2,024.00 190 | \$72.32 |
| Church: Target UMC \$199.00 \$0.00 \$178.00 \$377.00 154 Charge: TRINITY (AIKEN) | |
| Charge: TRINITY (AIKEN) Church: Trinity UMC \$1,705.00 \$2,020.50 \$2,877.00 \$6,602.50 502 Charge: TRINITY (BAMBERG) Church: Trinity UMC \$660.00 \$1,245.00 \$0.00 \$1,905.00 296 Charge: TRINITY (ORANGEBURG) Church: Trinity UMC \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$97 Church: Trinity UMC \$0.00 \$0.00 \$0.00 \$0.00 \$97 Church: Swansea UMC \$563.00 \$750.00 \$711.00 \$2,024.00 190 | \$5.00 |
| Church: Trinity UMC \$1,705.00 \$2,020.50 \$2,877.00 \$6,602.50 502 Charge: TRINITY (BAMBERG) | \$2.45 |
| Charge: TRINITY (BAMBERG) Church: Trinity UMC \$660.00 \$1,245.00 \$0.00 \$1,905.00 296 Charge: TRINITY (ORANGEBURG) 50.00 \$0.00< | |
| Church: Trinity UMC \$660.00 \$1,245.00 \$0.00 \$1,905.00 296 Charge: TRINITY (ORANGEBURG) 50.00 \$0.00 | \$13.15 |
| Charge: TRINITY (ORANGEBURG) Church: Trinity UMC \$0.00 \$0.00 \$0.00 \$97 Charge: WAGENER - SWANSEA 563.00 \$750.00 \$711.00 \$2,024.00 190 | |
| Church: Trinity UMC \$0.00 \$0.00 \$0.00 \$0.00 \$97 Charge: WAGENER - SWANSEA 563.00 \$750.00 \$711.00 \$2,024.00 190 | \$6.44 |
| Charge: WAGENER - SWANSEA Church: Swansea UMC \$563.00 \$750.00 \$711.00 \$2,024.00 190 | ¢0.00 |
| Church: Swansea UMC \$563.00 \$750.00 \$711.00 \$2,024.00 190 | \$0.00 |
| | \$10.65 |
| | |
| Charge: WESLEY (AIKEN) | \$10.07 |
| Charge: WESLEY (AIREN) Church: Wesley UMC \$100.00 \$131.00 \$50.00 \$281.00 89 | \$3.16 |
| Charge: WILLISTON | 20.10 |
| Church: Blackville UMC \$0.00 | \$0.00 |
| Church: Williston UMC \$890.00 \$0.00 \$197.00 \$1,087.00 195 | |
| District Total \$70,953.84 \$36,002.60 \$34,812.76 \$141,769.20 18,668 | |
| District: Rock Hill | |
| Charge: ADNAH | |
| Church: Adnah UMC \$466.00 \$910.00 \$928.00 \$2,304.00 382 | \$6.03 |
| Charge: ALDERSGATE (ROCK HL) Church: Aldersgate UMC \$550.00 \$530.00 \$200.00 \$1,280.00 378 | \$3.39 |
| Charge: ANTIOCH | 40.07 |
| Church: Antioch UMC \$0.00 \$200.00 \$0.00 \$200.00 132 | \$1.52 |
| Charge: BELAIR | |
| Church: Belair UMC \$100.00 \$0.00 \$73.00 \$173.00 217 | \$0.80 |
| Charge: BETHEL - ARMENIA | |

| age 26 of 3 | 3 | Monthly and Misc. | Annual Work Day | Mother's Day | Total Church Contributions | Total Church Members | Total Contribution per Church Membe |
|--------------------|---|-------------------|--------------------|-------------------|-------------------------------|----------------------------|---|
| Church: | Armenia UMC | \$915.00 | \$0.00 | \$281.00 | \$1,196.00 | 142 | \$8.42 |
| Church: | Bethel UMC | \$703.00 | \$752.00 | \$465.50 | \$1,920.50 | 160 | \$12.00 |
| Charge: | BETHEL - PHILADELPHIA | | | | | | |
| Church: | Bethel UMC | \$134.75 | \$182.00 | \$247.00 | \$563.75 | 155 | \$3.64 |
| Church: | Philadelphia UMC | \$0.00 | \$280.00 | \$0.00 | \$280.00 | 133 | \$2.11 |
| Charge: | BETHEL - VANWYCK | | | | | | |
| Church: | Bethel UMC | \$0.00 | \$60.00 | \$0.00 | \$60.00 | 73 | \$0.82 |
| Church: | Van Wyck UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 30 | \$0.00 |
| Charge: | BETHESDA Detherede LIMC | \$20.00 | 00.03 | \$100.00 | \$120.00 | 40 | \$2.00 |
| Church: | Bethesda UMC | \$20.00 | \$0.00 | \$100.00 | \$120.00 | 40 | \$3.00 |
| Charge: Church: | CAMP CREEK Camp Creek UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 142 | \$0.00 |
| Charge: | CATAWBA - EL BETHEL | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 142 | \$0.00 |
| Church: | Catawba UMC | \$25.00 | \$0.00 | \$160.00 | \$185.00 | 102 | \$1.81 |
| Church: | El Bethel UMC | \$100.96 | \$0.00 | \$418.00 | \$518.96 | 87 | \$5.97 |
| Charge: | CH OF GOOD SHEPHRD | | | | | | |
| Church: | | \$125.00 | \$470.00 | \$288.00 | \$883.00 | 167 | \$5.29 |
| Charge: | CHESTER CT | | | | | | |
| Church: | Capers Chapel UMC | \$571.11 | \$0.00 | \$167.00 | \$738.11 | 111 | \$6.65 |
| Church: | New Hope UMC | \$175.00 | \$0.00 | \$0.00 | \$175.00 | 87 | \$2.01 |
| Charge: | CLOVER PARISH | | | | | | |
| Church: | Clover Chapel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 47 | \$0.00 |
| Church: | Green Pond UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 113 | \$0.00 |
| Church: | Mt Harmony UMC | \$0.00 | \$10.00 | \$0.00 | \$10.00 | 108 | \$0.09 |
| Charge: | CORNERSTONE - EPWORTH | | | | | | |
| Church: | Cornerstone UMC | \$0.00 | \$500.00 | \$293.00 | \$793.00 | 317 | \$2.50 |
| Church: | Epworth UMC | \$0.00 | \$0.00 | \$161.00 | \$161.00 | 189 | \$0.85 |
| Charge: | EAST LANCASTER | | | | | | |
| Church: | Lynwood UMC | \$10.00 | \$0.00 | \$0.00 | \$10.00 | 98 | \$0.10 |
| Church: | Trinity UMC | \$120.00 | \$270.00 | \$126.00 | \$516.00 | 65 | \$7.94 |
| Charge: | FIRST (CLOVER) | #2 025 00 | #0.00 | 01 51 6 00 | ¢2.551.00 | 0.07 | ¢4.40 |
| | First Church UMC | \$2,035.00 | \$0.00 | \$1,516.00 | \$3,551.00 | 807 | \$4.40 |
| Charge: | FIRST CHURCH (LANCASTER) First Church UMC | ¢105.00 | \$50.00 | ¢1 274 00 | \$1,619.00 | 736 | ¢2.20 |
| | | \$195.00 | \$50.00 | \$1,374.00 | \$1,019.00 | /30 | \$2.20 |
| Charge: Church: | FORT LAWN Fort Lawn UMC | \$0.00 | \$0.00 | \$60.00 | \$60.00 | 33 | \$1.82 |
| Charge: | FRIENDSHIP - HEATH MEML | ψ0.00 | ψ0.00 | \$00.00 | \$00.00 | 55 | ψ1.02 |
| Church: | Friendship UMC | \$495.00 | \$278.00 | \$30.00 | \$803.00 | 280 | \$2.87 |
| | Heath Memorial UMC | \$20.00 | \$0.00 | \$0.00 | \$20.00 | 96 | \$0.21 |
| Charge: | GOOD SAMARITAN | | | | | | |
| - | Good Samaritan UMC | \$150.00 | \$0.00 | \$1,161.00 | \$1,311.00 | 178 | \$7.37 |
| Charge: | GRACE (LANCASTER) | | | | | | |
| Church: | Grace UMC | \$0.00 | \$140.00 | \$0.00 | \$140.00 | 280 | \$0.50 |
| Charge: | GRACE COMMUNITY | | | | | | |
| Church: | Grace Community UMC | \$215.00 | \$0.00 | \$0.00 | \$215.00 | 140 | \$1.54 |
| Charge: | HEATH SPRINGS CHARGE | | | | | | |
| | Hanging Rock UMC | \$540.00 | \$0.00 | \$0.00 | \$540.00 | 93 | \$5.81 |
| Church: | Salem UMC | \$40.00 | \$0.00 | \$0.00 | \$40.00 | 93 | \$0.43 |
| Charge: | HICKORY GROVE CHARGE | \$ \$\$ | ¢1=0.00 | #2 12 ^ ^ | <i></i> | | <i>t</i> a a c |
| Church: | Canaan UMC | \$0.00 | \$170.00 | \$242.00 | \$412.00 | 124 | \$3.32 |
| | Mt Vernon UMC | \$0.00 | \$0.00 | \$355.00 | \$355.00 | 245 | \$1.45 |
| Charge: | HOPEWELL | ¢200.00 | 050 00 | ¢ 430.00 | ¢700.00 | 274 | ¢1.04 |
| Unurch: | Hopewell UMC | \$200.00 | \$50.00 | \$438.00 | \$688.00 | 374 | \$1.84 |

| age 27 of 3 | 3 | Monthly and Misc. | Annual Work Day | Mother's Day | Total Church Contributions | Total Church Members | Total Contribution pe Church Membe |
|-------------|---------------------------|-------------------|--------------------|-----------------|-------------------------------|----------------------------|--|
| Charge: | INDIA HOOK | | | | | | |
| Church: | India Hook UMC | \$342.00 | \$560.00 | \$25.00 | \$927.00 | 362 | \$2.56 |
| Charge: | KERSHAW CHARGE | | | | | | |
| Church: | Damascus UMC | \$275.00 | \$0.00 | \$645.00 | \$920.00 | 43 | \$21.40 |
| Church: | First UMC | \$90.00 | \$527.00 | \$0.00 | \$617.00 | 87 | \$7.09 |
| Charge: | KINGS MTN CHAPEL - ST PAU | JL | | | | | |
| Church: | Kings Mountain Chapel UMC | \$0.00 | \$550.00 | \$0.00 | \$550.00 | 247 | \$2.23 |
| Church: | St Paul UMC | \$2,230.00 | \$50.00 | \$1,250.00 | \$3,530.00 | 189 | \$18.68 |
| Charge: | MOUNT HOLLY | | | | | | |
| Church: | Mt Holly UMC | \$100.00 | \$667.00 | \$1,108.52 | \$1,875.52 | 672 | \$2.79 |
| Charge: | MT DEARBORN - HEATH CHA | PEL | | | | | |
| Church: | Heath Chapel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 46 | \$0.00 |
| Church: | Mt Dearborn UMC | \$150.00 | \$200.00 | \$460.00 | \$810.00 | 135 | \$6.00 |
| Charge: | MT PROSPECT - EBENEZER | | | | | | |
| Church: | Ebenezer UMC | \$125.00 | \$0.00 | \$170.00 | \$295.00 | 37 | \$7.97 |
| Church: | Mt Prospect UMC | \$0.00 | \$70.00 | \$90.00 | \$160.00 | 64 | \$2.50 |
| Charge: | OSCEOLA | | | | | | |
| Church: | Osceola UMC | \$65.00 | \$0.00 | \$0.00 | \$65.00 | 195 | \$0.33 |
| Charge: | PHILADELPHIA | | | | | | |
| Church: | Philadelphia UMC | \$400.00 | \$515.00 | \$1,380.00 | \$2,295.00 | 602 | \$3.81 |
| Charge: | PLEASANT HILL | | | | | | |
| Church: | Pleasant Hill UMC | \$1,646.04 | \$710.00 | \$724.00 | \$3,080.04 | 611 | \$5.04 |
| Charge: | RICHBURG - PLEASANT GRO | VE | | | | | |
| Church: | Pleasant Grove UMC | \$75.00 | \$0.00 | \$357.00 | \$432.00 | 86 | \$5.02 |
| Church: | Richburg UMC | \$0.00 | \$81.00 | \$188.00 | \$269.00 | 15 | \$17.93 |
| Charge: | ROCK HILL CENTRAL | | | | | | |
| Church: | Mt Olive UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 37 | \$0.00 |
| Church: | New Hope UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 32 | \$0.00 |
| Charge: | ROCK HILL SOUTH | | | | | | |
| Church: | Bethel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 104 | \$0.00 |
| Church: | Harmony UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 72 | \$0.00 |
| Charge: | ST JOHN'S (FORT MILL) | | | | | | |
| Church: | | \$2,055.00 | \$0.00 | \$1,507.00 | \$3,562.00 | 900 | \$3.96 |
| Charge: | ST JOHNS (ROCK HILL) | , | | | , | | |
| Church: | St Johns UMC | \$3,279.22 | \$3,317.39 | \$3,839.77 | \$10,436.38 | 1,940 | \$5.38 |
| Charge: | ST LUKE (LANCASTER) | | | | | | |
| Church: | St Luke UMC | \$220.00 | \$145.00 | \$25.00 | \$390.00 | 593 | \$0.66 |
| Charge: | TABERNACLE | | | | | | |
| Church: | Tabernacle UMC | \$21.00 | \$173.00 | \$108.00 | \$302.00 | 217 | \$1.39 |
| Charge: | TRINITY (YORK) | | | | | | |
| Church: | Trinity UMC | \$260.00 | \$400.00 | \$620.00 | \$1,280.00 | 508 | \$2.52 |
| Charge: | WESLEY MEMORIAL - HEAT | H MEML | | | | | |
| Church: | Wesley Memorial UMC | \$135.00 | \$322.00 | \$758.00 | \$1,215.00 | 140 | \$8.68 |
| Charge: | WESTERN YORK | | | | | | |
| Church: | New Zion UMC | \$0.00 | \$200.00 | \$0.00 | \$200.00 | 125 | \$1.60 |
| Church: | Shady Grove UMC | \$20.00 | \$300.00 | \$300.00 | \$620.00 | 17 | \$36.47 |
| Church: | Sharon UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 72 | \$0.00 |
| Charge: | WOODLAND | | | | | | |
| Church: | Woodland UMC | \$4,708.50 | \$585.00 | \$1,688.00 | \$6,981.50 | 981 | \$7.12 |
| Charge: | YORK - ST JAMES | | | | | | |
| Church: | | \$50.00 | \$10.00 | \$0.00 | \$60.00 | 59 | \$1.02 |
| Church: | - | \$200.00 | \$0.00 | \$0.00 | \$200.00 | 92 | \$2.17 |
| - / | - | | | | | | |

| Page 28 of 3 | 3 | Monthly and Misc. | Annual Work Day | Mother's Day | Total Church Contributions | Total Church Members | Total Contribution per Church Member |
|--------------------|--|--------------------------------|--------------------------------|-------------------------------------|----------------------------------|----------------------------|--|
| Charge: Church: | ZION (LANCASTER) Zion UMC District Total | \$145.00 \$24,497.58 | \$765.00 \$14,999.39 | \$656.00 \$24,982.79 | \$1,566.00 \$64,479.76 | 390 16,774 | \$4.02 \$3.84 |
| District: | Spartanburg | 4_ ,, 2, 100 | <i>•</i> , <i>•••••</i> | <i></i> ,, <i></i> ,, | <i></i> | | |
| Charge: | ALDERSGATE (INMAN) | | | | | | |
| Church: | Aldersgate UMC | \$0.00 | \$313.00 | \$223.00 | \$536.00 | 169 | \$3.17 |
| Charge: | BEAUMONT | | | | | | |
| Church: | Beaumont UMC | \$0.00 | \$50.00 | \$65.00 | \$115.00 | 118 | \$0.97 |
| Charge: | BEN AVON - ROEBUCK | | | | | | |
| Church: | Ben Avon UMC | \$196.00 | \$0.00 | \$0.00 | \$196.00 | 197 | \$0.99 |
| Church: | Roebuck UMC | \$1,375.00 | \$958.00 | \$1,288.05 | \$3,621.05 | 72 | \$50.29 |
| Charge: Church: | BETHEL (SPARTANBURG) Bethel UMC | \$2,905.00 | \$832.00 | \$1,955.00 | \$5,692.00 | 1,351 | \$4.21 |
| Charge: | BETHEL (UNION) | \$2,705.00 | \$652.00 | \$1,755.00 | \$5,072.00 | 1,551 | φ+.21 |
| Church: | Bethel UMC | \$25.00 | \$0.00 | \$135.00 | \$160.00 | 159 | \$1.01 |
| Charge: | BLACKSBURG | | | | | | |
| Church: | Sardis UMC | \$0.00 | \$196.00 | \$660.00 | \$856.00 | 66 | \$12.97 |
| Church: | St John UMC | \$0.00 | \$365.00 | \$511.00 | \$876.00 | 84 | \$10.43 |
| Charge: | BOGANSVILLE | | | | | | |
| Church: | Bogansville UMC | \$520.00 | \$0.00 | \$0.00 | \$520.00 | 211 | \$2.46 |
| Charge: | BUFFALO | | | | | | |
| Church: | Buffalo UMC | \$1,878.24 | \$0.00 | \$427.00 | \$2,305.24 | 235 | \$9.81 |
| Charge: Church: | BUFORD STREET Buford Street UMC | \$831.00 | \$375.00 | \$950.00 | \$2,156.00 | 424 | \$5.08 |
| Charge: | CAMPOBELLO - FINGERVIL | | \$375.00 | \$950.00 | \$2,150.00 | 424 | \$5.08 |
| Church: | Campobello UMC | \$250.00 | \$0.00 | \$0.00 | \$250.00 | 129 | \$1.94 |
| Church: | Fingerville UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 48 | \$0.00 |
| Charge: | CANNON'S CAMP GROUND | • • • • • | • • • • • | • • • • • | • • • • • | | • • • • • |
| Church: | Cannons Camp Ground UMC | \$2,430.00 | \$1,654.25 | \$2,699.08 | \$6,783.33 | 580 | \$11.70 |
| Charge: | CENTRAL (SPARTANBURG) | | | | | | |
| Church: | Central UMC | \$75.00 | \$912.00 | \$1,406.11 | \$2,393.11 | 447 | \$5.35 |
| Charge: | CHEROKEE SPRINGS - LIBE | | | | | | |
| Church: | Cherokee Springs UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 99 | \$0.00 |
| Church: | Liberty UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 162 | \$0.00 |
| Charge: | CHESNEE Chesnee UMC | \$700.00 | \$230.00 | \$285.00 | \$1,215.00 | 84 | \$14.46 |
| Church: Charge: | CHURCH OF THE COVENAN' | | \$250.00 | \$285.00 | \$1,213.00 | 04 | \$14.40 |
| Charge: Church: | UMC of the Covenant | \$50.00 | \$0.00 | \$299.00 | \$349.00 | 530 | \$0.66 |
| Charge: | COWPENS | <i>QQQQQQQQQQQQQ</i> | 40.00 | <i><i><i>q</i>=<i>yy.oo</i></i></i> | \$2.17.00 | 000 | \$0.00 |
| Church: | Salem UMC | \$0.00 | \$10.00 | \$234.00 | \$244.00 | 155 | \$1.57 |
| Church: | St Andrews UMC | \$0.00 | \$0.00 | \$159.64 | \$159.64 | 84 | \$1.90 |
| Church: | St Mark UMC | \$0.00 | \$225.00 | \$542.00 | \$767.00 | 132 | \$5.81 |
| Charge: | CROSS ANCHOR | | | | | | |
| Church: | Cross Anchor UMC | \$0.00 | \$85.00 | \$50.00 | \$135.00 | 73 | \$1.85 |
| Church: | Hebron UMC | \$150.00 | \$0.00 | \$0.00 | \$150.00 | 41 | \$3.66 |
| Charge: | DUNCAN - STARTEX - LOREE | | * • • • • | * 101.00 | A < 1- A A | 10.6 | \$540 |
| Church: | Duncan UMC | \$456.00 | \$0.00 | \$191.00 | \$647.00 | 126 | \$5.13 |
| Church: | Loree UMC | \$0.00 \$0.00 | \$0.00 \$0.00 | \$0.00 \$0.00 | \$0.00 | 61 | \$0.00 |
| Church: | Startex | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 41 | \$0.00 |
| Charge: Church: | DUNCAN ACRES Duncan Acres UMC | \$145.00 | \$593.00 | \$364.00 | \$1,102.00 | 162 | \$6.80 |
| Charge: | DUNTON | φ1 12.00 | ψυνυ.00 | φ201.00 | ψ1,102.00 | 102 | ψ0.00 |
| | Dunton UMC | \$0.00 | \$0.00 | \$215.00 | \$215.00 | 158 | \$1.36 |

| age 29 of 3 | 3 | Monthly and Misc. | Annual Work Day | Mother's Day | Total Church Contributions | Total Church Members | Total Contribution pe Church Memb |
|-------------|--------------------------|-------------------|--------------------|-----------------|-------------------------------|----------------------------|---|
| Charge: | EL BETHEL | | | | | | |
| Church: | El Bethel UMC | \$25.00 | \$140.00 | \$129.00 | \$294.00 | 134 | \$2.19 |
| Charge: | FAIRMONT | | | | | | |
| Church: | Fairmont UMC | \$0.00 | \$0.00 | \$65.00 | \$65.00 | 31 | \$2.10 |
| Charge: | FRIENDS IN CHRIST | | | | | | |
| Church: | Friends in Christ UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 92 | \$0.00 |
| Charge: | GOLIGHTLY - TABERNACLE | | | | | | |
| Church: | Golightly UMC | \$20.00 | \$230.00 | \$360.00 | \$610.00 | 112 | \$5.45 |
| Church: | Tabernacle UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 43 | \$0.00 |
| Charge: | GRACE (UNION) | | | | | | |
| Church: | Grace UMC | \$0.00 | \$1,461.00 | \$1,061.00 | \$2,522.00 | 471 | \$5.35 |
| Charge: | GRAMLING | | | | | | |
| Church: | Gramling UMC | \$675.00 | \$856.00 | \$1,940.00 | \$3,471.00 | 278 | \$12.49 |
| Charge: | GRAVELY MEMORIAL | | | | | | |
| Church: | Gravely Memorial UMC | \$0.00 | \$335.00 | \$387.00 | \$722.00 | 199 | \$3.63 |
| Charge: | IMMANUEL | | | | | | |
| Church: | Immanuel UMC | \$0.00 | \$64.00 | \$300.00 | \$364.00 | 125 | \$2.91 |
| Charge: | INMAN | | | | | | |
| Church: | Inman UMC | \$3,342.00 | \$0.00 | \$0.00 | \$3,342.00 | 228 | \$14.66 |
| Charge: | JACKSONS GROVE | | | | | | |
| Church: | Jacksons Grove UMC | \$250.00 | \$0.00 | \$0.00 | \$250.00 | 115 | \$2.17 |
| Charge: | JONESVILLE - NEW HOPE | | | | | | |
| Church: | Jonesville UMC | \$250.00 | \$185.00 | \$46.00 | \$481.00 | 106 | \$4.54 |
| Church: | New Hope UMC | \$100.00 | \$90.00 | \$865.00 | \$1,055.00 | 77 | \$13.70 |
| Charge: | KELTON | | | | | | |
| Church: | Bethlehem UMC | \$450.00 | \$1,000.00 | \$1,000.00 | \$2,450.00 | 151 | \$16.23 |
| Church: | Fosters Chapel UMC | \$584.85 | \$1,080.00 | \$835.00 | \$2,499.85 | 189 | \$13.23 |
| Charge: | LANDRUM | | | | | | |
| Church: | Landrum UMC | \$50.00 | \$351.00 | \$128.00 | \$529.00 | 327 | \$1.62 |
| Charge: | LIMESTONE STREET | | | | | | |
| Church: | Limestone Street UMC | \$50.00 | \$0.00 | \$0.00 | \$50.00 | 130 | \$0.38 |
| Charge: | LOCKHART - WESLEY CHAPE | L | | | | | |
| Church: | Lockhart UMC | \$0.00 | \$0.00 | \$360.00 | \$360.00 | 110 | \$3.27 |
| Church: | Wesley Chapel UMC | \$130.00 | \$571.00 | \$682.25 | \$1,383.25 | 216 | \$6.40 |
| Charge: | LYMAN | | | | | | |
| Church: | Lyman UMC | \$550.00 | \$0.00 | \$457.00 | \$1,007.00 | 498 | \$2.02 |
| Charge: | MESOPOTAMIA - ASBURY | | | | | | |
| Church: | Asbury UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 62 | \$0.00 |
| Church: | Mesopotamia UMC | \$850.00 | \$320.00 | \$535.00 | \$1,705.00 | 67 | \$25.45 |
| Charge: | MONTGOMERY MEMORIAL | | | | | | |
| Church: | Montgomery Memorial UMC | \$293.50 | \$0.00 | \$0.00 | \$293.50 | 258 | \$1.14 |
| Charge: | NEW BEGINNINGS | | | | | | |
| Church: | New Beginnings UMC | \$1,505.00 | \$0.00 | \$0.00 | \$1,505.00 | 505 | \$2.98 |
| Charge: | PACOLET - WHITE STONE | | | | | | |
| Church: | Pacolet UMC | \$345.00 | \$0.00 | \$20.00 | \$365.00 | 145 | \$2.52 |
| Church: | Whitestone UMC | \$0.00 | \$355.00 | \$570.00 | \$925.00 | 47 | \$19.68 |
| Charge: | REIDVILLE ROAD | | | | | | |
| Church: | Reidville Road UMC | \$0.00 | \$200.00 | \$602.00 | \$802.00 | 369 | \$2.17 |
| Charge: | SARDIS - UNITY | | | | | | |
| Church: | Sardis UMC | \$200.00 | \$240.00 | \$0.00 | \$440.00 | 224 | \$1.96 |
| Church: | Unity UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 68 | \$0.00 |
| Charge: | SILVER HILL MEMORIAL | | | | | | |
| Church: | Silver Hill Memorial UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 550 | \$0.00 |

| Page 30 of 3 | 3 | Monthly and Misc. | Annual Work Day | Mother's Day | Total Church Contributions | Total Church Members | Total Contribution per Church Member |
|--------------------|---|----------------------|--------------------|------------------|-------------------------------|----------------------------|--|
| Charge: | SKYLYN - ARCADIA | | | | | | |
| Church: | Arcadia UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 77 | \$0.00 |
| Church: | Skylyn UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 133 | \$0.00 |
| Charge: | SPARTANBURG PARISH | | | | | | |
| Church: | Allen Chapel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 72 | \$0.00 |
| Church: | Florence Chapel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 25 | \$0.00 |
| Church: | Pleasant View UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 17 | \$0.00 |
| Charge: Church: | ST JAMES (SPARTANBURG) St James UMC | \$208.66 | \$1,808.00 | \$1,873.32 | \$3,889.98 | 526 | \$7.40 |
| Charge: | ST LUKE (SPARTANBURG) | | | | | | |
| Church: | St Luke UMC | \$0.00 | \$0.00 | \$10.00 | \$10.00 | 146 | \$0.07 |
| Charge: | ST PAUL (SPARTANBURG) | | | | | | |
| Church: | St Paul UMC | \$2,660.00 | \$881.00 | \$1,924.00 | \$5,465.00 | 1,058 | \$5.17 |
| Charge: | TRINITY - ENOREE - PATTE | | | | | | |
| Church: | Enoree UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 85 | \$0.00 |
| Church: | Patterson Chapel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 99 | \$0.00 |
| Church: | Trinity UMC | \$100.00 | \$250.00 | \$250.00 | \$600.00 | 104 | \$5.77 |
| Charge: Church: | TRINITY (GAFFNEY) Trinity UMC | \$220.57 | \$0.00 | \$0.00 | \$220.57 | 100 | \$2.21 |
| Charge: | TRINITY (SPARTANBURG) | | | | | | |
| Church: | Trinity UMC | \$2,908.00 | \$373.43 | \$465.00 | \$3,746.43 | 917 | \$4.09 |
| Charge: | WALNUT GROVE | | | | | | |
| Church: | Walnut Grove UMC | \$0.00 | \$624.00 | \$0.00 | \$624.00 | 268 | \$2.33 |
| Charge: | WHITMIRE - CARLISLE | | | | | | |
| Church: | Carlisle UMC | \$321.00 | \$0.00 | \$165.00 | \$486.00 | 38 | \$12.79 |
| Church: | Whitmire UMC | \$0.00 | \$709.00 | \$874.00 | \$1,583.00 | 145 | \$10.92 |
| | District Total | \$28,074.82 | \$18,921.68 | \$28,562.45 | \$75,558.95 | 15,935 | \$4.74 |
| District: | Walterboro | | | | | | |
| Charge: | | #0.00 | ¢0.00 | ¢0.00 | ¢0.00 | 1.50 | ¢0.00 |
| Church: | Waters Edge UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 152 | \$0.00 |
| Charge: | ADNAH - WILLIAMS CHARC | | ¢105.00 | 00.00 | ¢155.00 | ((| ¢0.25 |
| | Adnah UMC | \$50.00 | \$105.00 | \$0.00 | \$155.00 | 66 26 | \$2.35 |
| Church: | Williams UMC | \$375.00 | \$205.00 | \$0.00 | \$580.00 | 36 | \$16.11 |
| Charge: | ALLENDALE | \$(05.00 | 00.03 | 00.02 | \$605.00 | 24 | \$25.21 |
| Church: | | \$605.00 \$250.00 | \$0.00 | \$0.00 | \$605.00 \$250.00 | 24 | \$25.21 |
| Church: | Swallow Savannah UMC | \$250.00 | \$0.00 | \$0.00 | \$250.00 | 122 | \$2.05 |
| Charge: Church: | BEAUFORT CT Bethel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 45 | \$0.00 |
| | Johns Chapel UMC | \$0.00 | \$0.00 \$0.00 | \$0.00 \$0.00 | \$0.00 | | \$0.00 \$0.00 |
| Church: | - | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 63 | \$0.00 |
| Charge: Church: | BEAUFORT PARISH Wesley UMC | \$125.00 | \$0.00 | \$293.00 | \$418.00 | 68 | \$6.15 |
| | - | \$125.00 | \$0.00 | \$295.00 | \$418.00 | 08 | \$0.15 |
| Charge: Church: | BELLS PARISH Red Root UMC | \$100.00 | \$0.00 | \$0.00 | \$100.00 | 103 | \$0.97 |
| Church: | Sykes Savannah UMC | \$100.00 | \$0.00 | \$0.00 | \$100.00 | 105 | \$0.97 |
| Charge: | BETHEL - DUNCAN CHAPEL | | \$0.00 | \$0.00 | \$100.00 | 100 | \$0.75 |
| Charge: Church: | Bethel UMC | \$125.00 | \$347.00 | \$175.00 | \$647.00 | 144 | \$4.49 |
| Church: | Duncan Chapel UMC | \$40.00 | \$468.00 | \$399.00 | \$907.00 | 68 | \$13.34 |
| Charge: | BETHEL - RED BANK | <i>Q</i> 10.00 | φ100.00 | <i>4099</i> .00 | <i>\$201.00</i> | 00 | φ1 <i>0.0</i> ι |
| Church: | Bethel UMC | \$25.00 | \$0.00 | \$0.00 | \$25.00 | 155 | \$0.16 |
| Church: | Red Bank UMC | \$25.00 | \$0.00 | \$0.00 | \$25.00 | 43 | \$0.58 |
| Charge: | BETHEL (WALTERBORO) | +=0.00 | + 3.00 | - 3.00 | | | ÷ |
| Church: | | \$850.00 | \$445.00 | \$717.00 | \$2,012.00 | 854 | \$2.36 |
| | | | | | | | |

| Page 31 of 3 | 3 | Monthly and Misc. | Annual Work Day | Mother's Day | Total Church Contributions | Total Church Members | Total Contribution po Church Memb |
|--------------|---------------------------|-------------------|--------------------|-----------------|-------------------------------|----------------------------|---|
| Church: | Bluffton UMC | \$1,613.30 | \$1,740.00 | \$2,162.00 | \$5,515.30 | 501 | \$11.01 |
| Charge: | CANAAN - SANDHILL | | | | | | |
| Church: | Canaan UMC | \$50.00 | \$0.00 | \$0.00 | \$50.00 | 399 | \$0.13 |
| Church: | Sand Hill UMC | \$70.00 | \$0.00 | \$0.00 | \$70.00 | 450 | \$0.16 |
| Charge: | CARTERET STREET | | | | | | |
| Church: | Carteret Street UMC | \$5,125.00 | \$6,500.00 | \$4,276.00 | \$15,901.00 | 658 | \$24.17 |
| Charge: | CENTRAL CT (ALLENDALE) | | | | | | |
| Church: | New Hope UMC | \$60.45 | \$0.00 | \$0.00 | \$60.45 | 151 | \$0.40 |
| Church: | Simpson UMC | \$25.00 | \$0.00 | \$0.00 | \$25.00 | 267 | \$0.09 |
| Church: | Union UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 169 | \$0.00 |
| Charge: | CHURCH OF THE PALMS | | | | | | |
| Church: | Church of the Palms UMC | \$833.00 | \$335.00 | \$717.00 | \$1,885.00 | 148 | \$12.74 |
| Charge: | COLLETON CT | | | | | | |
| Church: | Bethel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 27 | \$0.00 |
| Church: | Heaven Gate UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 11 | \$0.00 |
| Church: | Trinity UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 6 | \$0.00 |
| Charge: | COTTAGEVILLE CHARGE | | | | | | |
| Church: | Cottageville UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 93 | \$0.00 |
| Church: | Rehoboth UMC | \$125.00 | \$0.00 | \$0.00 | \$125.00 | 93 | \$1.34 |
| Charge: | DORCHESTER CT | | | | | | |
| Church: | Salem UMC | \$2,317.40 | \$0.00 | \$992.25 | \$3,309.65 | 117 | \$28.29 |
| Church: | Zion UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 109 | \$0.00 |
| Charge: | DORCHESTER PARISH | | | | | | |
| Church: | Oak Grove UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 52 | \$0.00 |
| Church: | St John UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 93 | \$0.00 |
| Charge: | EBENEZER - RIZER CHAPEL | | | | | | |
| Church: | Ebenezer UMC | \$35.00 | \$0.00 | \$32.00 | \$67.00 | 111 | \$0.60 |
| Church: | Rizer UMC | \$35.00 | \$120.00 | \$125.00 | \$280.00 | 133 | \$2.11 |
| Charge: | EHRHARDT | | | | | | |
| Church: | Lodge UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 49 | \$0.00 |
| Church: | St James UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 16 | \$0.00 |
| Church: | Wesley Chapel UMC | \$400.00 | \$0.00 | \$0.00 | \$400.00 | 23 | \$17.39 |
| Church: | Zion UMC | \$170.00 | \$225.00 | \$205.00 | \$600.00 | 16 | \$37.50 |
| Charge: | ESTILL - BLACK SWAMP | | | | | | |
| Church: | Estill UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 46 | \$0.00 |
| Church: | Furman UMC | \$0.00 | \$0.00 | \$835.00 | \$835.00 | 18 | \$46.39 |
| Church: | Mt Carmel UMC | \$0.00 | \$305.00 | \$500.00 | \$805.00 | 48 | \$16.77 |
| Church: | St John UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 18 | \$0.00 |
| Charge: | FAIRFAX | | | | | | |
| Church: | Bellinger Chapel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 93 | \$0.00 |
| Church: | Brunson UMC | \$200.00 | \$0.00 | \$0.00 | \$200.00 | 81 | \$2.47 |
| Charge: | FIRST (HARLEYVILLE) | | | | | | |
| Church: | First Church UMC | \$1,535.00 | \$0.00 | \$0.00 | \$1,535.00 | 184 | \$8.34 |
| Charge: | FISHER CHAPEL - ST STEPHE | N | | | | | |
| Church: | Fishers Chapel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 73 | \$0.00 |
| Church: | St Stephen UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 9 | \$0.00 |
| Charge: | FRIENDSHIP - ST LUKE | | | | | | |
| Church: | Friendship UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 144 | \$0.00 |
| Church: | St Luke UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 123 | \$0.00 |
| Charge: | GROVER | | | | | | |
| Church: | Grover UMC | \$700.34 | \$0.00 | \$506.00 | \$1,206.34 | 182 | \$6.63 |
| Church: | Providence UMC | \$100.00 | \$0.00 | \$0.00 | \$100.00 | 38 | \$2.63 |
| Charge: | HAMPTON - VARNVILLE CHA | RGE | | | | | |

| Page 32 of 3. | 3 | Monthly and Misc. | Annual Work Day | Mother's Day | Total Church Contributions | Total Church Members | Total Contribution per Church Member |
|---------------|--------------------------|-------------------|--------------------|-----------------|-------------------------------|----------------------------|--|
| Church: | Hampton UMC | \$1,838.44 | \$0.00 | \$0.00 | \$1,838.44 | 208 | \$8.84 |
| Church: | Varnville UMC | \$20.00 | \$505.00 | \$370.00 | \$895.00 | 45 | \$19.89 |
| Charge: | HARDEEVILLE - ST LUKE'S | | | | | | |
| Church: | Hardeeville UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 125 | \$0.00 |
| Church: | St Luke UMC | \$60.00 | \$789.00 | \$1,386.00 | \$2,235.00 | 179 | \$12.49 |
| Charge: | HARLEYVILLE PARISH | | | | | | |
| Church: | Jerusalem UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 70 | \$0.00 |
| Church: | Morris Chapel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 102 | \$0.00 |
| Church: | St Daniel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 148 | \$0.00 |
| Charge: | HENDERSONVILLE CHG | | | | | | |
| Church: | Ebenezer UMC | \$550.00 | \$0.00 | \$0.00 | \$550.00 | 69 | \$7.97 |
| Church: | Salem UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 106 | \$0.00 |
| Charge: | INDIAN FIELD | | | | | | |
| Church: | Indian Field UMC | \$60.00 | \$294.00 | \$399.00 | \$753.00 | 475 | \$1.59 |
| Charge: | JERICHO | | | | | | |
| Church: | Jericho UMC | \$0.00 | \$0.00 | \$300.00 | \$300.00 | 220 | \$1.36 |
| Charge: | MACEDONIA - WESLEY GROU | VE | | | | | |
| Church: | Macedonia UMC | \$100.00 | \$0.00 | \$0.00 | \$100.00 | 110 | \$0.91 |
| Church: | Wesley Grove UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 80 | \$0.00 |
| Charge: | MT PLEASANT (RUFFIN) | | | | | | |
| Church: | Mt Pleasant UMC | \$31.00 | \$0.00 | \$0.00 | \$31.00 | 16 | \$1.94 |
| Charge: | NEW GRACE | | | | | | |
| Church: | New Grace UMC | \$50.00 | \$0.00 | \$0.00 | \$50.00 | 469 | \$0.11 |
| Charge: | NEW HOPE - ST PAUL CHARG | | | | | | |
| Church: | New Hope UMC | \$100.00 | \$0.00 | \$0.00 | \$100.00 | 132 | \$0.76 |
| Church: | St Paul UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 76 | \$0.00 |
| | NEW LIFE | | | | | | |
| Church: | New Life UMC | \$569.00 | \$250.00 | \$275.00 | \$1,094.00 | 192 | \$5.70 |
| 6 | PORT ROYAL | | | | | | |
| Church: | Port Royal UMC | \$487.00 | \$320.00 | \$227.00 | \$1,034.00 | 246 | \$4.20 |
| Charge: | RIDGEVILLE CHG | **** | | | | | |
| Church: | Cypress UMC | \$885.00 | \$0.00 | \$280.00 | \$1,165.00 | 89 | \$13.09 |
| Church: | Mt Tabor UMC | \$1,065.00 | \$205.00 | \$325.00 | \$1,595.00 | 46 | \$34.67 |
| Church: | Trinity UMC | \$6,681.00 | \$1,205.00 | \$265.00 | \$8,151.00 | 92 | \$88.60 |
| 0 | RUFFIN CT | | | | | | |
| Church: | Bethel UMC | \$4,535.00 | \$845.00 | \$0.00 | \$5,380.00 | 180 | \$29.89 |
| Church: | St John UMC | \$270.00 | \$146.00 | \$0.00 | \$416.00 | 83 | \$5.01 |
| Church: | Tabor UMC | \$30.00 | \$263.00 | \$230.00 | \$523.00 | 67 | \$7.81 |
| 0 | RUFFIN PARISH | | | | | | |
| Church: | Buckhead UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 79 | \$0.00 |
| Church: | Hickory Hill UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 106 | \$0.00 |
| Charge: | SAINT GEORGE PAR | | | | | | |
| Church: | Shady Grove UMC | \$0.00 | \$0.00 | \$492.76 | \$492.76 | 740 | \$0.67 |
| Church: | St Mark UMC | \$181.00 | \$0.00 | \$0.00 | \$181.00 | 179 | \$1.01 |
| Church: | Trinity UMC | \$0.00 | \$0.00 | \$60.00 | \$60.00 | 74 | \$0.81 |
| Charge: | SMOAKS CT | | | | | | |
| Church: | Green Pond UMC | \$800.00 | \$153.00 | \$583.00 | \$1,536.00 | 56 | \$27.43 |
| Church: | Little Swamp UMC | \$550.00 | \$0.00 | \$0.00 | \$550.00 | 97 | \$5.67 |
| Church: | Trinity UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 29 | \$0.00 |
| Charge: | SPRINGTOWN | | | | | | |
| Church: | Springtown UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 362 | \$0.00 |
| Charge: | ST ANDRW BY TH SEA | | | | | | |
| Church: | St Andrew By-the-Sea UMC | \$4,341.00 | \$925.00 | \$1,996.00 | \$7,262.00 | 798 | \$9.10 |

| Page 33 of 3 | 3 | Monthly and Misc. | Annual Work Day | Mother's Day | Total Church Contributions | Total Church Members | Total Contribution per Church Member |
|--------------|-----------------------|-------------------|--------------------|-----------------|-------------------------------|----------------------------|--|
| Charge: | ST GEORGE | | | | | | |
| Church: | St George UMC | \$1,845.00 | \$0.00 | \$0.00 | \$1,845.00 | 666 | \$2.77 |
| Charge: | ST PAUL - TILLMAN | | | | | | |
| Church: | St Paul's UMC | \$270.00 | \$0.00 | \$1,005.00 | \$1,275.00 | 271 | \$4.70 |
| Church: | Tillman UMC | \$25.00 | \$520.00 | \$350.00 | \$895.00 | 37 | \$24.19 |
| Charge: | TOBY - MT NEBO CHARGE | | | | | | |
| Church: | Mt Nebo UMC | \$100.00 | \$0.00 | \$0.00 | \$100.00 | 25 | \$4.00 |
| Church: | Tobys Bluff UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 34 | \$0.00 |
| Charge: | WALTERBORO CHARGE | | | | | | |
| Church: | Mt Carmel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 97 | \$0.00 |
| Charge: | WALTERBORO CHG | | | | | | |
| Church: | Peniel UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 29 | \$0.00 |
| Church: | Sandy Dam UMC | \$205.00 | \$248.00 | \$290.00 | \$743.00 | 62 | \$11.98 |
| Charge: | WALTERBORO PAR | | | | | | |
| Church: | Cumberland UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 152 | \$0.00 |
| Church: | Isaiah UMC | \$0.00 | \$0.00 | \$0.00 | \$0.00 | 45 | \$0.00 |
| | District Total | \$41,712.93 | \$17,963.00 | \$21,493.01 | \$81,168.94 | 14,427 | \$5.63 |
| | Grand Total | \$677,536.24 | \$362,383.29 | \$415,133.36 | \$1,455,052.89 | 235,501 | \$6.18 |